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 #	������	 
1��1��� 
� ��� ������ ����	�
� �� ���� ��
� ��
1�� ��� ����	�
�
� �� � �
����� ���	��
����� ���� �(������	�
�� �
� ���	! .����� 2&���� ���	!�� ��� ?(���
���	!��3% 1����/ ��	
����(	��
� 2�����/ "���	�
�3 ��� �����	
� ������.	���
� 2�&7�% 	�

�����
���% 5@?A �+����3� ��� ����	�
� �� �� � 

�� ��� ��� �� ���(
�� 	
1����� 
� ,� �
 ��� ����
�� ��� �
��6
���
 2�������3 �
��� ��� ,� �
 , � ���� �� ��� 1����	�
 ����	��
��

4�� ����
	���� �����) ����
�23 	� 
�+��
 �� �����(�L ��� z
�:	� 	� 	� ��� 
	����	��
�� ��� '����� A��)� ��
 z = 0 	� ���� ��� ������ ����	��� 4�� y
�:	� 	� '�	��	�� �'(��

��
 ��� x
�:	� '�	��� ��(��
� ��� ������ �� ��� ������������ (	�� x = 0 ��
 y = 0 �	���
A� ��� '����� A��) �:	��

�� ��� �����(	�� (� �	�� �� �����	�( �� ��� ��
�23 
�������� 3 
���	��
 
����	'�	��
�� ��� ��A

�������� ��� A� ����
 ����(���� D%� !� 0"E�

��#�� ��� ���
$�	� �%����

4�� �����	�� �����) ��� )�)����) 
����)	���	�� �:���
� 	� z ���) ��� �:	� (	�
�(
�� ��� �����: ������ �z = 210 �)� �� ��� ����� �� ��� �����	)���� �z = 1325 �)�� ��
����	��� �� � 
	'��� )����� ��
 0# �����	�� ����	��� �� H��'��������I� �� 
�'	���
 	�
+���� 0�6�$�

4�� ��
�23 )����� ��� �� 	��������
 +��
 �������� �� $�$ 4)� 4�� )�����	�
+��
 '�	��� �'(��
 ��
 A��
� ������
 '���	���� 	� ��� ���	.����� 
	����	��� 4��
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��� �(���
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(�� ��� ��������� 2B�4 	�3 �� �C(����� ���� &���� ���	!��
�����
��% ��� ��� 
(����
�� ����
� �� 	
1���� �+ ��� ?(��� ���	!��� ����� ��
(�� 
� �(����

�+��� 	�� �� �������(�����D ��� ������ 	������� 57,�57- ��� 5#�,�5#�� ��� �����

��
������ ��� ������� ��� ������� ��	
�����
� 	������� '7,�'78 ��� 5#,��5#,� ��� ���(����
������� ��� ������ ��� ��� �&7� ��� ��� ������� 	������� �7,% �7� ��� 5#,8% 5#,4 ���
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� �� ���� ��� �������� A��) ��� '��� ��
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4� �
*��� ��� ��� '���	��� ?�:� (�	�� 
�������� (	�� ��� 
	������ �� ��� A��) �:	��
�(� 
	>����� ���������	�� ��� ���
� 4�� ����� 4������ ��'��������� ���� ����� ��� ����
A��(��� 7 �� $7 �) ���) ��� A��) '	'�� ��� ��)'���
 �� )	���
���	' ��� ���)A���
(	�� ��� �������� )���	'�	��� �@�/
/�@5 D0$E�� 3 ���	' '	��� �� #"" µ) '���	
�� �
�	� �������	�� �� %" µ) ��
 ���'� ����'���	�� �� �� ����'��A�� ������

4�� ����� ���	��� ���) $7 �) �� �' �� # ) ���) ��� A��) �:	�� 	� ������
 A� -����
4������ ��'��������� 4�� -���� 4������ 	� A�	�� ���) �������)A 
�	�� ���)A��� D0#E
(	�� ���� �	.�� �� 7 )) 	� ��� ���	�� ����� �� ��� A��) '	'�� ��
 0" )) 	� ��� �����)���
���	���

����� �����	�� ��'������� ����	��� �� ������� ������ �� 
�	�� ���)A��� �� )	���
���	'
'����� �������
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4���� '���� 	� ��� �����	�� �����) ��� A� 
	��	���	���
� ���� (	�� � 
	>�����

'��'���L

������� 4���"�
�
�� &���3��� 5�&6
4�� )�	� '��� �� ��� �����	�� �����) 	� � ��� �� ���� '������ ������	�	�� ���)

A���� 	�������
 	� ��� +��

���� ���	�� A��(��� ��� )����� ��
 ��� 2�5�� 4����
��'�������� ����	�� �� )��� 
������ ��������
 ������� 4�	�� ��
 ��� �A����� ��
� )�����	� +��
 ���	�	����� ��� ������ ��� ������
 ������� 4�� +��� ��
 ��� ����
�� ����� 15 ���)A��� ��� ���� ���
 A� ��� �	��� <���� 4�	����� 
����	A�
 	� ���
��:� ���'����

��
""�� &���3��� 5�&6
4�� �	��� <���� 4�	���� �� ��
�23 '�����)� � ����� ������� 	�	�	���
 A� '����	�

���� ���) ��� �����	)���� �� ��� /�-� �����)� 4� ��=�	����� �����( 
�(� ���
������ (	�
�( ��� ����� +�
	��� �(� �����	�� ����	��� ��� 	�������
 ����� �� ���
�����	)�����

��"��� &���3��� 5�&6
4�� )�	� '��'��� �� � ��� �� ����� �����	�� ����	��� 	��	
� ��� )�����	� +��

(�� �� ���A�� �� �=�	��� �����������	�� �� K0

S 
������ �� �

	�	��� ����� ���)

A��� ���	�	���� ��� �:���'����	�� �� ��� �����: 
������� �� ��� ����� ���)����
������������
 	� ��� 15 ���)A����

4�� )�)����) �������	��� ���	)���
 	� � /���� 5���� �	)����	�� D06E� ������
A��(��� 0�7G ��
 $G� 
�'��
	�� �� ��� )�)����) �� ��� '���	���� 4�� (	
�� �� ���
J/ψ �	����� ������������
 	� ��� J/ψ→ µ+µ− �������� 	� 77 MeV/c2�

��#�� ��� �����& ����
���

 )����� ���� �� ������� 
���� ������ �� 0"�9 )) �� ��
�23� 4� 	
���	�� ������ (	��
� B )����� A��� ��� '�	)��� �����: ��
 ��� �����
��� �����: �����
 A� ������������

(	�� ��=�	��� '���	�	��� 4�	� ��;�	��� �� �������� 
����)	���	�� �� ��� '���)����� ��
������
 ������ ����� �� ��� �������

��� ��	� '��'��� � �����: 
������� �����) �B&�� 	� ��� +��

���� ���	�� ���� ���
������ 	� 	�������
� 4�� B&� ����	��� �� �	��� ����	��� �� �	�	��� )	���
���	' 
���������
���� ����	�� ��� ���� )�
���� �� �(� 
��A�� �	
�
 �	�	��� 
������� '������ �������
 	�
���� ;��
������ �� 
�'	���
 	� +���� 0�6�#�

4�� ���	'� �� ��� ���� �	�	��� '����� �� ��� )�
��� ��� '��	�	���
 (	�� ������ �� 

$�7� $�7� %9�7 �� !$�7 
������ (	�� ���'��� �� ��� ����	��� �:	�� 4�	� �	��� �;��� '���	�	��
��� ��� ����� �����������	�� 	� A��� ��� ����	��� ��
 ���	.����� ����� 
	����	���

4�� ���
��� '	��� �� 7" µ) ������� ���� ��� �	� ����'���� ����� �:���
� 7G� 4��
����� ��
 �����: �������	�� ��� 
�)	����
 A� )���	'�� �������	��� 5����;������� ���
�)���� �� )����	�� 	� ��� '��� �� ������ 	� )	�	)	��
� 4�� B&� ���� ��
�����
 2�)��
'���� 	� (�	�� )�
���� ��� A� 	������
 �� � '��	�	�� �� ����� �� 0 �) ���) ��� A��)
�:	��
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(� 
� ��� �����/ "���	�
� #+���� 2
���3 ��� �������(��
� 
� ������+ 1����/
	

�������� �� ��	
����(	��� ��
� �"# ���	! ��������2�����3� ��� ������+ 1����/ ���

(��
�
�� ����
/�����
+ 500 µm �� ��� z ����	��
�� ��� ����� ������ ����� ��� 	
���
+ 1����
��

4�� 	)'��� '���)���� �������	�� 	� #7 µ) ��� �	��
)�)����) '���	���� �p >
50 GeV/c�� 4�� �������	�� �� '�	)��� ����	��� 	� �''��:	)����� 7"" µ) 	� z ��

6" µ) 	� x �� y�

��#�� �����
�� ���	��'
����	

4�� +��� ����� '���	���� ���) � ���
�� 
���� ��� � µ+µ− �� � e+e− '�	� ���) ��� J/ψ
��
 � π+π− '�	� ���) ��� K0

S� 4� ��
��� ��� A��������
 	� ��� �����������	�� �� �����

������ ������� 
�������� ��� '���	��� 	
���	+���	�� ��� ���
� ��������� ��� 	
���	+�

(	�� �� �������
)�����	� �����	)���� ��
 � �����	�	�� ��
	��	�� 
�������� )���� (	��
� /�-� 
�������� ��
 � 2�5� 
������� 	� ���
 �� ��'����� '	��� ���) ������

48&�

4�� 2	�� �)��	�� 5�������� 5������ �2�5�� 	� ������
 A��(��� ��� 45 ���)A���
��
 ��� 15 ���)A��� �� ��� �����	�� �����)� ��� '��'��� 	� �� �=�	��� ��
 '���
��'����	�� A��(��� ����� ��
 '	���� �� ���� � ���� +���
 (	�� ����� �54�10� 	� (�	��
�����	�	��	� '���	���� �)	� 5�������� ��
	��	��� 4�	� 5�������� ��
	��	�� 	� �)	���
 ��
�� ����� θC (����� ��� 
	����	�� �� ��� '���	���� (�	�� 
�'��
� �� ��� �������	�� 	�
�:
n �� ��� ��
	���� ��� ��
 �� ��� �����	�� β = v/c �� ��� '���	����L

cos θC =
1

nβ
. �0�6�0�

3 �'���	��� )	���� '��*���� ��� '������� ��
	���
 	� � ����� ���� � �	����� 3 '�����
)	���� ���� ��?���� ��� '������ ���� �� ����� �� '����
)���	'�	�� ��A��� (���� ����
��� 
������
�

�	��� ��� )�)����) p �� � '���	��� 	� 
����)	��
 A� ��� )�	� �������� ��� )��� m
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��� A� �:������
 ���) ��� ����� �� ��� 5�������� �	�� ��	�� ��� �''��:	)��� �;���	��

θ2
C = θ2

0 −
m2

p2
. �0�6�$�

����� θ0 = 1/n 	� �� �>��� 
�+��
 A� ��� ��'� �� ���� ��� ����� (� ���� θ0 = 52)��
�
�	���� 0�6�6 ���(� ��� ��������	�� A��(��� 1/p2 ��
 θ2

C � 5���� A��
� ��� �	�	A�� ����
������'��
 �� ���������� '	���� ����� ��
 '������� 4�� )�)����) ������ ���� (�	��
� ���
 '���	��� 	
���	+���	�� �
�+��
 �� � ���� �	�)� ��'����	�� �� ��� A��
�� ��� A�
���	���
� ��� ���� 	�
	����
 D0"E�

0 0.002 0.004 0.006 0.008 0.01 0.012 0.014 0.016 0.018 0.02
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(θ
2  

− 
θ2 )

 [x
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0−2
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2 ]

c
0

1/p2 [GeV−2]
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kaons
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electrons

− Kπ

e −π

K − p

3.4 − 15 GeV/c

12 − 54 GeV/c

23 − 85 GeV/c

σ4 separation:

������ �����
 7
���
���
� ������� ��� ��	
����(	��� �
����(� ��� ��� 7�����!
1 ���
�
��	
����(	��� �+ ��� �&7� :,�;� ��� �&7� ��
1���� � ��������
� 
� !�
�� ��� ��
�� �� �
��
�� �
����(� �����% �� ����	�����

%&'�

4�� �������
)�����	� �����	)���� ��53<�� 	�������
 0#�7 ) ���) ��� ������� )�������
��� ������ 
�'��	��
 A� ��� '���	����� 3A��� 8""" ����� ��)'�� ���(�� '���	���� 	� ��	�

�	�������� ���
(	���
 A��(��� ��	� ������ �� �A���A�� )����	�� �� M
�	
�� ����� 	� ���
	���� '��� ��
 ���
 	� ��� ����� ��
 )	

�� '������ M��������� ��	��	�� +A���� ����	��
'��'��
	������� �� ��� ��	��	�������� ��	
� ��� �	��� �� '����
)���	'�	��� �1/4��� 4��
1/4� ��������) 	� �� �� �������� ������	��� '���� ���� 	� ��A��;������ 
	�	�	��
 ��

��������
 �� � ����� ��� ��� �������

4�� �53< 	� ��A

	�	
�
 	� ����� '���� �� �
*��� ��� ��� '���	��� ?�: 
	>�������� ��
���(� 	� +���� 0�6�7�� 4�� 	����)��� ���	�� 	� �;�	''�
 (	�� �53< ����� ��∆x×∆y =
2.24 × 2.24 �)2 ��
 ��� � 
�'�� �� ## ��
	��	�� ������� �X0�� 4�� )	

�� ��
 �����
���	��� ���� �;���� ���� �	.�� �� 5.6 �) ��
 11.18 �)� ���'���	����� ��
 � 
�'�� �� $"X0�

4�� �53< ����(� �� ��'����� �������
)�����	����� ���(��	�� '���	���� ���γ� ���)
��
����� M������ ��
���� 
�'��	� ���� � �����	�� �� ���	� ������ E 	� ��� �53<�
��������� 
�'��	� ���	� ���� ������� 4������� (	�� ��� )�)����) p� ������������
 A�
��� )�	� �������� ��������� ��� A� 	
���	+�
 �� ���	�� E/p ≈ 1� �������)���� ���
�53< 	� ���
 �� '���	
� ��� �����	�� '�	�� ��� �������� ����� �����������	�� A� ���
�<4�



�� ��� ������ �����
����

������ �����
 E�+
(� ��� �������
����
� 
� ��� �7�E� ��� �7�E
	
������ 
� ����� ����
�� 
� ��0���
��� 	�

 ��6��D 2.24 × 2.24 	�2 �
�
��� &���� �7�E% 5.6 × 5.6 	�2

�
� ��� 5���
� �7�E ��� 11.2 ×
11.2 	�2 �
� ��� ?(��� �7�E� e−beam pipe

OUTER ECAL
1728 channels
11.18x11.18cm

MIDDLE ECAL
2128 channels

5.6x5.6cm INNER ECAL
2500 channels
2.24x2.24cm

p−beam pipe

624 cm

468cm

4�� ������ �������	�� ��� A��� )������
 D0"E 	� '��� �� ��� ����� �53< �� A�
σE/E = 0.22/

√
E ⊕ 0.017 ��� �������
)�����	����� ���(��	�� '���	�����

3 �����	�	�� ��
	��	�� 
������� �42&� 	� �������� �� A� 	�������
 	� ��� 	���� ���	��
�� ��� 
�������� (���� ����� 
���	�	�� ��� �	��� 4�� 42& (	�� '���	
� �

	�	����
��'����	�� �� ��������� ��
 ��
���� 	� ��� )�)����) ����� A��(��� 7 ��
 07" GeV�

�9*+

4�� /�-� �����) ����	��� �� ���� ��'�������� 	���������
 (	�� �������� ��
 �����
�A���A���� �� 
�'	���
 	� +���� 0�6�8� 4���� �A���A��� ���' '����	����� ��� '	��� ��

������ (������ )���� �� )��� ���� 7 @�B �������� ��� 
������� ��)'�������

4�� 	���� ���	�� �x, y < 33 �)� 	� �;�	''�
 (	�� ��� '	:�� 
�������� �� 9 × 9 ))2

���� �	.�� ��
 30 )) (	�� ������� �� ��� ����� ���	��� '��'���	���� (	�� ��A� ���)A���
(	�� ���� �	.�� �� 0�$ �) '���	
� ��=�	��� ��������	���

4�� ���� �(� /�-� ��'��������� /�# ��
 /�6� ��� ���� ���
 ��� ��� �	��� <����
4�	����� 4��� ��� ���
 ��� �� ��� �����
� �	
�� (�	�� 	� ���)����
 	� '�
� �� 6.5 ×
6.4 �)2 �/�#� ��
 12.9 × 13.0 �)2 �/�6�� 3 ��	��	
���� A��(��� � �	� 	� � '�

�� /�# ��
 ��� 	� /�6 '���	
�� ��� �����	�� '�	�� �� � )��� �����������	�� A� ���
�<4�

��& ��	���� ��� ���� ��'�	
	�	��

��(�� ������� �������"

4�� �	�� ����� ���� ��
 	�������	�� ���� ��
 ��� �:���)� �	���� �� A��������
 ���	�
�� 10−11 '������� � ��	;�� ��������� �� ��� ��	����� 4�� 	�	�	�� A���� �����	�� ���� ��
0" /�. )��� A� ��
���
 �� �� ���'�� ���� �� 7" �. �� (�	�� ������ ��� A� (�	���� ��
��'�� ���� �� �� 	�������	�� ���� �� 6" /�.� � B0 → J/ψ K0

S 
���� 	� ��� �:'����
 ��
A� ����
 )��� )��� ���� ���� '�� �����

4�� ��	���� �����) 	� �'��	+����� 
��	���
 �� ������ ������ �����	�	�� � J/ψ 
����	��
�� µ+µ− �� e+e−� 4�� ����(���)	�� )�*��	�� �� ����� J/ψ (	�� ��� A� ���) � B
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 	������� �� ��� ����� ����� ���
�(��� 
� 5@� ��� 5@8 ��1� 
�� 
���
������
�% �(� ��� �
�
 ���� 
(� 
� ���
	���
�� �
 ��
1��� � ������� �����
�


����� ������������� ���� 
	������ '��
���
 J/ψ ��� ��=�	����� ���� �� A�	�� �A���
��� ��;�	��
 ����� ���� ��
���	�� �� �A��� ��� )	��	��� 4�	� ���� ��
���	�� 	� ���	���

A� � ��	���� ���	� ���� ����	��� �� ���� ���'��

�
��� �� �! ��
""��

4�� )��� ��	�	��� ��
 ��������	�� '��� �� ��� ��	���� �����) 	� ��� �	��� <���� 4�	����
��<4�� �� ����	��� �� �����)
)�
� ���
(��� '�������� A���
� ���� '�����) � ����� ��

���������	�� 	� ��� )�	� �������� 4�	� ����� �����������	�� 	� 	�	�	���
 A� �� �������	�
������� 	� ��� �53< �� � ��	��	
���� �� �	�� 	� ��� /�-� �����)� A��� �� (�	�� �	�� �
+��� ���	)��� �� ��� ����� '���)������ 4���� ����� ���
	
���� ��� ������� ������������

	� ��� )�	� �������� 3���� 
����)	�	�� ��� )�)���� �� ����� ������� � )��� �����

������	�� 	� 
��� ���) '�	�� �� ����
 ������� 3 )��� ��� �� ��'	����� m > 2 GeV/c2

�	��� ��� ��;�	��
 ���� ��
���	��� (�	�� ��)�	�	�� �=�	��� ��� � J/ψ� 4�� �	��� <����
4�	���� 	� 
����	A�
 	� 
���	� 	� ��� ��:� ���'����

�����/ ��/ ��
�/ �� �! ��
""��

M��� ��� ����� 	� ����'��
 A� ��� �<4� ��� 
��� ��� �����)	���
 ���) ��� 
�������
�� ��� �����
 <����  �>�� ��< �� -�� �� ��� $6" 15� ���� )��� �' ��� �����

<���� 4�	���� ��<4� ���) (	�� '������ ��	� ������ 	)'���	�� ��� �������� 	� ��� �����
'���)����� �� ��� ������ �����
� ����
 A� ��� �<4� 4�� �<4 	����
�� ��� )������


�	�� �	)�� �� ��� -���� 4������ 	� ��� �����������	��� 3 +� ��	�� 
�	�� �	)�� 	)'�����
��� ����� '���)���� �������	�� A� � ������ �� 0"� 4�� ������ ��� ������� �����
 �������
��� )����� ��
 ��� �����: 
�������� 4�� �(� ������ �� ��� J/ψ ���
	
��� )��� ��	�	����
���) � ��))�� �����:� �� ���������� ��	� �����: ��� ���� A� ��;�	��
 �� A� 
������

���) ��� '�	)��� �����:� +�)�� 	�
	���	�� � B 
�����

3���� ��� �� ��� ��
�� �� ��� �<4 ��� ����'��
 ��� ������ ��	� 15 (	�� ����)A��
��� ���� ����� ���) ��� �< � 4�	�
 <���� 4�	���� �4<4� �����	��)�� �:�����
 �� ���



�( ��� ������ �����
����

��)� �<4 ���)� ��� ���� '�����) ���� ����� ��
 �����: +��	�� 	� ��� �����: 
��������
3�������	�� �	��� ���
J/ψ� ��	����� ���) ��� �<4� ���� �� �	���� �	��
pT ��'����� ���
'�������
 �����

������ �� �! ��
""��;�'4�

3���� ��� �<4J4<4� ��� ����� ���� 	� ��=�	����� ��
���
 �� ����( � ���� ����� �����

������	�� A� � �����
 ���) �� 15�� 3 +��� ����� ������	�� ��� ������� ��
��� ��� ����
�� ������ (�	���� �� ��'�� 	� ���������� -��	�� ��	��)���� ���	A���	�� ��
 
��� ;���	��
)��	���	�� '�������� ���� ���	
� �� ��� �32/�

4�	���� <���� 	�'�� ���� ��
���	�� �	)� ���
(���

�<4 0" /�. $"" 0$ µ� �����)
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�<4 7" ��. 0"" 6 )� 15 ���)

4<4 7"" �. 0" 0"" )� 15 ���)
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�� �����
 ���� ���(	��
� 
� ��� ��0����� ������� 
�1�
�� ��� 
(��(� ���� 
� 4� �6 ��
��	����� �+ ��� ��/��(� ���� ���� 	�� �� ������� �
 ����% ��� ���� ������� 
� ��� ��6� 
�
�� �1���� ��� *��5 ����
��� � �(

 �1��� ��	
����(	��
�% ��� ������
��
 ������� 	(�� 	�� ��
���
������� ���� �� ��	�����+�

��(�� )��� �
*�������	

4�� ��	���� ���	� 	� �)A�

�
 	� � 
��� ��;�	�	�	�� �&3P� �����) ���� 	� ��'�A�� ��
���
�	�� ��� ����� �)���� �� 
��� �� A� ����������
 A��(��� ��� ��	���� ������� 3
����)��	� �����	�( �� ��� 
��� ��;�	�	�	�� �����) 	� ���(� 	� +���� 0�7�0�

3�� 
������� ��������� �)����	�� �� � ����� �� ��)��� 8""�"""� ��� ���
 ��� ���
����� A���� �����	�� �� !8 ��� 4�� 
��� ��� ��)'����	�� �����
 �� ��� �����
��
 ��
��� 
������� 	� � ����	� ���
��� A�>�� �� 0$% A���� �����	���� (�	�� � �<4 
��	�	�� 	�
�(�	��
�

4�� 
������� 
��� ���� ��� ���
 A� ��� �<4� ��� 
	������ �����)	���
 �� ��� �<4
���(��� ��� ����� A���� �����	��� 1����	���� �	��A���
� '���	
� �� 	�������� �� ���
'����	���� ��������	��� ��
 �<4 �	��A���
� ���
 ��� �	� 	����)��	�� ���) ��)� �� ���
�����	�� ��'�������� �� ��� �<4 '����������

M��� ��� �<4 ����'�� ��� ������ ��� 
��� �����
 	� ��� ���
��� A�>�� ��� �����

)	���
 �� ��� �����
 <����  �>�� ��< �� A�	�� �' ���) 0#6 ��325� A���
�� 4�� �< 
������ ��� 
��� ���	� ��� �<4 ��� 
��	
�
 �� ���' �� ��*��� ��� ������ -�� �� ��� 15� ��
��� �<4 ���) (	�� ��;���� ����� 
��� ���) ��� �< � ���� ��� ���
�
 �� ��
�������� ���
�<4 ������� �� ��� ����� 	� ����'��
� ��� ��)'���� ����� 	� ���� �� ���� 15� 3���� ���
�:����	�� �� 4<4 �����	��)� �	� ���� ��
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����
����
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(���
 ���� ���� ��=��
 �� ����A�	�� 51 �	����	�� 	�  
������ ��(����� 
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������� ��
 ��	����� ���������� �����	���
'��A��)� �''����
 ���� 
���	�� ��� D0"E�� 4�	� �����
 � ���	��� 
����L �� 
��� �$""$�
��� 
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�	��� ��
�23 	� �� ������ ��)'��	�	�� ��� ��	� )������)���� ��� �)'���	� �� ���
'���	�� '�����) ��� ��	���
 ��(��
� ����� )������)����� 4�� )�	� '���	�� ����� ���
������ ����	�� ��� D09EL

• bb̄ ���/���
�� ����� ����
��
4�� �(� )������)���� �� ��� bb̄ '��
���	�� ����� ����	�� �� ������
��
)��� ����

�	�� ��)'���A�� �� ���� �� ��
�23 ��� 	)'���	�� ��
 )������� 	�����	����� ����
�	�� 7�0�7�� ���) ��� 
��� �� $"""� ��� ����� ����	�� ��� A��� )������
 (	�� ��
�������	��� �� 7"G D0%E� �� ������ ����	��� ��
�23 (	�� A� �A�� �� )������ ��	�
(	�� �� ���	)���
 �������	��� �� 0"G�

• ���/���
�� �� J/ψ< ψ′ ��/ χc= ��!��
���
�� ��/ ���!��� �>����
4�� )�
��� ��� ����)��	�) ���)��	�� �	�� 
	>����� '��
	��	��� ��� '��
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M	�� � �	.��A�� ��)'�� �� Υ� ��� ��)� '���	�� 	����� �� 
����	A�
 ��� ����)��	�)
��� A� �

�����
� ��� ��� Υ �����)� ��� �������	��� �������	��	�� 	� ��� )�
��
'��
	��	��� ��� �)������

• 

���� ���/���
�� �� ������� �� �
"��pT
4�� '��
���	�� �� �	��
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• &���� ��1�
��
4�� ����
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B0 → J/ψ K0
S )���	�� l+l−� $�
 �����: 51 �	����	�� �sin(2β)� D%E

B0 → J/ψ X Q σbb̄� B �	���	)�D%E

B0
s → J/ψ φ Q B0

s �	���	)�� ∆Γs D0"E

B0 → K∗(892) µ+µ− Q �5�5� ��( '���	�� D0"E

B0/D0 → µ+µ− Q �5�5� ��( '���	�� D%E

J/ψ�ψ′�Υ → l+l− )���	�� ��'��� '�	� P5& ���
	�� D$"E

D0 → K+ l−ν̄l �	�� pT ��'��� & )	:	��� P5& ���
	�� D$0E

B0
s → D−

s l−νl Q B0
s �	���	)�� ∆Γs

pA→ γX �	�� pT '����� ����� 
���	�� D$$E

b→ s γ �	�� pT '������ ��
��� �5�5� ��( '���	�� D$#E

B0
s → D−

s π+ �	�� pT ��
����� ��'��� B0
s )	:	�� D$6E

B0
s → D−

s 3π± Q B0
s )	:	�� D$6E

B0 → π+π− �	�� pT ��
���� 51 �	����	�� �sin(2α)� D!E

B0 → K+ π− Q 51 �	����	�� �sin(2γ)� D!E

��
�� 	����
 ?1��1��� 
� ��	�+ 	�����
� ��� ����� ������� ������(��� *
� �
�� ���
�����
�

� ��� �������
��+ 
� ����(������� (���� ����� ��	�+� ��� �������	��� ��� ��+��	� �
��1���
�
	�� �� �
(�� �� ��1���
 ��/��

!� 2��� ���� :�4;3�

A� ��� �<4 	� ��
�� �� 
����)	�� (������ ���� ����
 �����	� ��� �� ��� 
�����
�� ��A�� $�0�0� 4�� �<4 )��� �	�� ������� 7"" )	��	�� ����� ���
	
���� '��
�����
 ��
 '������ 0 4AJ� �� 
��� ���) ��� �����	�� ���)A���� 4�� '������	��
�� ��� ����� )�� ��� '�����
� ��� '������	�� �� �������� ���� H
��
 �	)�I (���


������� ��� ����� �=�	�����

• ���
��� /��
�
�� �
��
4�� ����� ��
 ��������	�� �� ��� ��
�23 
������� ��� ����� ��( 
������� 
��� 	�
� ����	� '	'��	�� A�>�� �� 0$% A���� �����	�� ������� 3���� 0$% A���� �����	���
��� ����� 	� ����(�	���� (	�� ��( 
���� 3�� �<4 
��	�	�� �� ������� '������ ��	�
����� ��� �� ���	�� �� ��� �����
��
 (	��	� 128 × 96 ns = 12.3 µs� 4�	� �	)��
��� )�:	)�) �<4 �������� 	����
�� ���
	�� 
��� �� ��� �<4� '������	�� ��	�

��� ��
 �����)	��	�� ��� 
��	�	�� A��� �� ��� 
������� ������� ��� ���� 5������
�����)�

• �
"� ��������1
4�� ��
���	� 	�������	��� �����
�
 A� ��� ��
�23 
������� ��� ���
 �� ����'��

�	�� �� �' �� #"G 	� ��� �����	�� ���)A���� 3 ���� 
��	�	�� A���
 �� ���� ������
��;�	��� �	)'�	+�
 �����	��)�� ���� ��� � ��A��� �� ��� 	���)	�� 
���� 4�� ���
�� ����� )����
� �����
 ���' ��)A	�����	�� �� �� ����'��A�� ������



�	� '!"��
��� ��

 � "����	���

4���� ��;�	��)���� ��� ���� A� )�� A� � '�������� �����) (	�� � �	���� '������� ��

'	'��	��
 ����	������� D$8� $9� $%E� 4�	� ������� ��� ������� ��
 )��� �=�	��� ��� �� ���
��)'��	�� ��'�A	�	�	��� 4�� �����	��)� ���
 	� ��� �<4 ��������� ���
 �� +� 	� ��	�
'������� ����	�������� /�������� ��� ����� '������	�� �	)� '�����
�� ��� �����)	��	��
�� ��� ���� �)���� �� 
������� 
��� ���) ��� '�������� �� ��� ������ 4�� 
��	�� �� ���
�<4 	� A�	�� �� ��� '�	����'�� �� H)��� '������� ��� 
���I�

3� ��))��	��
 	� ��A�� $�0�0� ��� ������ �� 	������� ��� ���������	��
 A� ��� �����

����� �� ��
����� ��������� �� )���� (	�� �	�� ���������� )�)����� 4�� �<4 �����

A� �A�� �� 	
���	�� ���	� ������ ��� �� � )���	��
� �� ����� ������
 ������� 3� ��'�

�	���� ��	��A�� �����	��) ��� ���� �	�� 
���	�� ����� +�
	�� ��
 ��� ���� ���	�+�� ���
�������	�� �� '���	A�� '�������	���	�� 	� ��� ���)�� +���� D$!E�

4�� ���)�� +���� �����	;�� (�� 
�����'�
 �� 
����)	�� ��� 
���)	��� ������	��
�� � �����) ���) � ��� �� )������)���� �� 
	>����� �	)��� 4�� ���(��
�� �� ���

���)	��� �����)� 
����	A�
 A� � ����� ������� 	)'����� (	�� ���� ��������	���� �

�

)������)���� 4�� �����	��) ������	���� ��)'�	��� �(�� ���'�� 4�� +��� 	� � '��
	��	��
���'� 	� (�	�� ��� ������� ���(��
�� �� ��� ����� ������ 	� ���
 �� )��� �� ���	)���
��� ��� ��:� )������)���� ���� � '��*���	�� 	� ��� A��� '���	A�� ���	)��� A���
 �� ���
'���	��� )������)����� 4�� ��:� ���' 	� ��� +���� ���'� ���� ������� )������)����
��� 	����
�
 �� ��+�� ��� ���(��
�� �� ��� ������ 3 )������)��� ���� 
	>��� ���
)��� ���) ��� '��
	��	�� 	� 
	������
�
 �� ��� A�����	�� �� ��� ������	�� �� ��	� ������
-�� ��� ���� �=�	����� 
	����
 ��	�� ��
 )������)���� ���) ����� ������� )��	��
��� ���)�� +����� ������	���� 
��	���
 �� ����� +� '����
���� ��	��A�� ��� �	�� 
���	��
'������ ������	�	��� �� ��
�23� (	�� 	�� �	�� ����� 
���	�	��� ��� ���)�� +���� 	�
(	
��� �''�	�
 �� � ����� +�
	�� )����
�

�	���� $�$�0 	���������� ��( ������ ��� ����
 	� ��� �<4� 4�� �<4 ���� � ��A���
�� ��� �����	�� ��
 )��� ��'��������� ��� '��	�	���
 	� ��� +��
 ���� ���	�� A��	�

��� )������ (���� '���	���� ���) ����	��� ������� 4�� 
	����	�� �� ��� ����� ������ 	�
��(��
� ��� ������� 	��� ������� �� ��� 
	����	�� �� ��� '���	��� ?�(�

4�� �����	�� '�	��� �� ����� �������� �H����� ���
�I� ��� �	��� A� '����	������ 4����

	>����� ��A
�������� ��� 	���� ���� '����	������ ������'��
	�� �� ��� ����� 
	>�����
�	�
� �� '���	���� �� 	�������L ���������� )���� �� �������	� ��
����� 4���� ��� ���
�53<� ��� /�-� �����) ��
 ��� �	��
1� ���)A���� ���'���	����� 3 '����	���� 
�+���
�� 	�	�	�� 2��	�� �� �������� �2���� � ������ (	�
�( �� (�	�� �� ��� ����� +�
	�� 	� �
����A� �����	�� ���)A�� 	� ���+��
�

4�� �<4 ��A��;������ 
����)	��� ��� ����� ���� )�� ���� ��
 �� ��	� '����	����
�	����� �� �������� (	��	� ��� �	��� 2�� 	� ��� �����	�� ���)A�� ��� �	�� ���� ���+�)
��� '������ �� � ������
 '���	���� M��� � �	� 	� ����
� 	� (	�� ��� ��� '��	�	�� �� ��	� �	�
	� ��� 2�� �� ��+�� ��� ���	)��� �� ��� ����� '���)������ �� (	�� ��A��;������ '���	
�
� �	)	���� A�� �����(�� 2�� �� � )��� �'�����) �����	�� ���)A��� 3 ����� ������ 	�
���� '�����)�
 	� ��	� �����(�� 2��� 3� ��	� '������ ����	����� ��� ���	)��� �� ���
����� '���)����� (	�� ��	� 	� ��������� ��
 ��� �	.� �� ��� 2��� 
�������� ���	� ��� ����
�����	�� ���)A�� ���
 	� ��� �<4 	� 	����
�
�

�� ����� ��
�� ��		
� #������
�$ �� ����
����
� ����
 �� �� ��� ��
� �� ��
 �	������� �% ��
 &'("



�� 
����
��
�� �� ��� �
��� �� �! ��
""��

pT �pads

ECAL

��pads

inner � outer tracking

� tracking

��K

�

e

������ 	�	��
 &

(������
� 
� ��� ���	! .����� �
�
����� 
� ��� *E�� ��� ���	��� ����� ��
�
����	� ����� 2�
� �
 �	�
�3 (��� �� ��� ���	! .����� ��
	��(��� H��� ��	� ����� ����(������%
��� !�
�
���� 
� ��� ���	! ����
1�� ��� ��� ��6� 
� ��� ����	� ����
�� ��	�������

 � ����� ��� 2��� �����
 A� ��=�	����� �)��� �� ���� ����� ������ 
�� �� ��)A	

�����	�� ��� �� �� ����'��A�� ������ /�������� ��� ����� '���)����� ��� ���(� �� ��
�������� ���� 	� ��=�	��� �� ����( � +��� )�)����) 
����)	���	��� A� ����)	�� ����
����� ������ ���� ��	�	����
 ���) ��� ������� ������ '��	�	�� �� (x, y, z) = (0, 0, 0)�
M��� ��� )�)���� ��� ���(�� ����� '�	�� ��� A� ��)A	��
 �� 
����)	�� ��� 	����	���
)���� /���	�� ���������� ���� �� J/ψ �� Υ ��� A� �������
 ��� �:�)'�� A� ��)A	�	��
��'��� '�	�� ��
 
�)��
	�� ��� 	����	��� )��� �� A� ������ ���� 2.0 GeV/c2�

 �# ����)��� 	����������	��

4�� ��������� ��)'����	���� �'��
 ��� ���� A� ���	���
 A� ���
(���� ���� 	� �'��	+

����� 
��	���
 ��� ��	� '��'���� -�
	���� )	���
'�������� A���
 �����)� ��� ��� ���(
A� �� ����� �� ��
�� �� )���	��
�� 4�� �<4 	� A�	�� �� � ���(��� �� �����)
A�	��
'�������� A���
��

4�� �<4 ��� ����� ����� �� '�����)� �� +��� ���
� �� +�
 ������� ���� ��� )�)����
�� ���� ������ ���
 �� A� 
����)	��
� ��
 +����� ��� 	����	��� )��� �� '�	�� �� ������
)��� A� ���������
�

&�
	����
 '�������� A���
� ���� A��� 
�����'�
 ��� ���� �� ����� ����� D#"E� 4����
�	�
	�� ��	�� �4��� '�����) ��� ����� �����������	��� 4���� 1���)���� ��	�� �41��

� ��� )�)����) 
����)	���	��� ��
 ��� )��� ��������	�� ��
 
��	�	�� ���	�� 	�

��� A� � 4�	���� &��	�	�� ��	� �4&��� 4�� '��	�	�� ��	���� 
��	�	�� 	� 
	���	A���

�� ��� ���	�� ���
��� �����) A� ��� ���� 5������ �����)� 4�� ����� 	� ���� �������



�	$ ���/,��� 
��!�������
�� �$

'�������
 A� ��� �����
 <���� 4�	����� �	���� $�#�0 �	��� � ����)��	� �����	�( �� ���
�����	����	�� �� ��� 
	>����� ��)'������ �� ��� �<4�

Message(s)

FLT accept

− trigger decision
− kinematic cuts
− mass calculation

− kinematic cuts (E/p,Pt,...)
− reject clones
− determine momenta

− update RoI
− update track parameters
− find triple hit coincidence

− cluster energy

Track Finding Units
(TFUs)

Track Parameter Unit
(TPU)

Trigger Decision Unit
(TDU)

Fast Control System
(FCS)

Front End Electronics

to Second Level Trigge r
Message(s)

FLT accept

Message(s)

Message(s)Message(s)

Track seeding

Track finding

Momentum determination

Trigger decision

− control of readout
− distribution of FLT accept

− clock and BX distribution

High−Pt Pretrigger ECAL Pretrigger

− Region of Interest
− Region of Interest

MUON Pretrigger

− Region of Interest
Message(s)
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Muon Pads
MU4 MU3 MU1

ECAL
High−Pt

PC1
MS10

TC2
MS15

TC1
MS14

PC4
MS13

detector superlayers

FLT  processors
TFU TFU TFU

pretrigger
Electron or hadron −

TFU TFU TFU
Muon pretrigger

TFU
TPU

TDU

decision

target

X

Z

������ 	���	
 *E� ����
�! �����������% ����	����� ��� 	
�����
����	� ������� ��
	���
��
��� ����	�
� �
����� ��� *E� 	
������� � ����
�! 
� <� ���	! *������ @����% ��	� 
� ���	�
	�� �	�� �
� ���	� �
���� �� � ���������� ���� 
� ���	!��� �+�����

3� � ����� ������ �� ��� ������ ��� )������ �����	�� ����� '���)����� ���� �� ���
'��	�	�� ��
 ��� ���'� ��
 	�� ���	)���
 �������	���� 4�� �<4 ����)�� ���� ������ ���
��� A��� 	� ��� ����	��� 
	����	�� ��
 ��� ����� ������ 	� ������	���� �����	���
 �� +�
	��
��� '��	�	�� ��
 ���'� �� ��� ����� 	� ��� ���	.����� �A��
	��� '������ �� ��	� '�����
��� ����� 	� 
����	A�
 A� ��� ���	�A��� ξ� 
ξ ��
 

ξ� �� 	���������
 	� +���� $�#�#�

 ��	
� ��� ����� '���)������ ��� )������ �����	�� ?��� �� ���	�A��� ���� ��� ���
�

��� �����	�� �� ��� �����	��)� ��� �:�)'��� ��� �������
  K ��)A�� ������ �� � �	)�
���)' �� ��� )������� ���� ����(� ��� �<4 �� �'����� 	�
�'��
����� ���) ��� A����
������ 3 
���	���	�� 	
���	+��� TDI� 	� � ��
�
 �

���� ��� ������	�� '��������� ����
)��� ����'� ��
 '������ ��� )������ �������� 4�� 	�����	�� �� ?��� ���� �� all ��
flag ���A�� ��� ������	�� �� '������ �� ���� ����� ���������� )�)����) ��� (�	�� ��
������
 ����� �����
 A� �������
� 4�� ���	�A�� flag 	� ��� A� ��� �53< '����	���� 	�
��� ������� ��� �� ���������� ������ �� # @�B �� )���� 4�� ���	�A�� all 	� ��� (���
�	�� ���� A��� ����
 	� ��� �����	�� ����	����

�%�� ������ ��
 y �������� �� �����		� �����
� ���
 )� ��
 (&*� �% +*,
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B��	�A�� �	.� ��� �� A	��� �'
���
 &����	'�	��

TDI % N 
���	���	�� 	
���	+���

�ξ 0 N �� �� 2��� �� ������ �0 �� $�

ξ 0" N x ����
	���� �� 45$ $�#�#


ξ % N )	�	)�) ���'� 	� : ���� �	�� $�#�#�



ξ % N �	.� �� (	�
�( 	� ���'�� ���� �	�� $�#�#

η ! � ���'� 	� y ����
A��
	�� '�����

w $ � �� �� �
*����� ����� 	� 45$ ���� �	�� $�#�#�

all 0 N ?�� (��� �	� 	� ����� 4�� ���� '�������

BX % � A���� �����	�� ��)A��

ID $ � '����	���� 	
���	+��

P 9 � 	�	�	�� ���	)��� �� )�)����)

flag 0 � '��� �� ��:� 4�� ���� '�������

E+ 9 �  ��)����� ������ �'��	�	�� ������ ��'��

E− 9 �  ��)����� ������ ������	�� ������ ��'��

����� 9!

��
�� 	����
 ������
�� �� �� *E�2�*@3 5������� ��� 	

(�� I@������J ����	���� �������

� �
� ��� 1�
(� 
� ��� 1�����
� 	������ ������ ��� �*@ ����
�!� 5������� ���� ������ ���
�'@ ��1� � �
����
+ ��0����� 	
�����D ���+ 	
����� ��� �
����(� 1�	�
�% ������� 
� ���
���	! �����������

/��� ���	�A��� 	� ��� )������� ��� ��� �'
���
 
��	�� ��� ����� ������ A�� ���
���(��
�
 ��������
 �� ��� ��:� '��������� ���� ���	�A��� ��� ��� ���� A� ��� �� ���
'����	����� ��
 ��� ��������� ��� ������� ����� '��'����	�� �η� w� �� ����� 	
���	+���	��
�ID� BX� P � flag� all��

�	��)��	� ;����	�	�� ��� A� ��
�
 	��� ��� ������'��
	�� )������ ���	�A��� 	� ��
��A	����� )������ 3�� ���
��
��� )�''	�� ��� 	� '�	��	'�� A� ���
 ��� ��	� ��
	���
4� �A��	� �� �'�	)�� �������� �	��� ��� �	)	��
 ��)A�� �� A	�� ���	��A��� ��� ��
	�� 	�
�
*����
 �� ��� 	���	��	� �������	�� �� ��� 
�������L 	� ��� ���	�� ����� �� ��� A��) '	'�
�x < 25 �)�� (���� ��� ����� 4������ '���	
�� � +��� ��������	�� ���� 	� ��� �����
���	���� x 	� ��
�
 	��� ξ (	�� �� �������� �� "�0$ �) '�� ��	� �� ��� )��� �	��	+����
A	�� �� ��� �����)��� ���	���� ������
 A� 0" )) -���� 4������ )�
����� ��� A	� �	.�
	� 0�9# �)�

����� �����������

%&'� �����
""��

4�� ���� �� ��� �53< '����	���� D#0E 	� ��� ����� 	
���	+���	�� �� �������� ���
	
����
��
 ��� 
����)	���	�� �� ���	� �����	�� ��
 '��	�	���� 4�� �53< '����	���� A���
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��6
���
 ������� �
���% ��
� ���	� ��� �
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�
����(� �� �����������

'�����) � ���� ������� ������ �� ����'� �� ����� A� ����� �53< ����� �����
 �� �������	�
������� ��(��� �� 
�'	���
 	� +���� $�#�6�

Impact point of particle

Pretrigger cluster (nonet) boundary Pretrigger board coverage
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���(	��
� �+ ��� �7�E ����
�������� H����� �� �
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	�

������� 	�

�% �� �7�E ����
������� �
��� .��� 	
(����� 
�
���� 	�

� ���� �(K	���� ������
1���� �����+�

<	�� ��� ���� �� ��� �<4 ���(���� ��� �53< '����	���� 	� A�	�� �' �� 
�
	����

'�������� A���
�� 4�� �������� �	����� ���) ��� '����
)���	'�	��� ��� 	��������
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	�	�	��
 A� ���
��� A���
�� ���� �� ��� �������� 	� ��'������� ���	A����
 ��

��� ������	�� ������ 	� ��
�
 	��� 0$ A	��� 4���� �����	��� ��)'�����
 �� 9 A	��� ���
��A��;������ ���� �� ��� �� )��� '����	���� A���
��

-�� '����	���� A���
 ����	��� ��� ������ ������ �� �' �� 7" �53< ��������� �� +���
	
���	+�� ������� ��(��� �� '���	A�� �������	� �������� A� �����	�� ��� ����� )�:	)� 	�
��� ������ 
�'��	�	�� �� ������ 4�� ������ �� ��� ��	��A���	�� ����� 	� ���� �

�
 ��
��� ����� ������ �� ��	� '����	���� ���
	
���� 3 '����	���� )������ 	� ������
 	� ���



�	$ ���/,��� 
��!�������
�� �2

������� ���	�+�� ��� �����(	�� ��	���	�L

Ecentral cell > ETH/2, �$�#�0�

Etotal > ETH , �$�#�$�

(���� ETH 	� � '�����))�A�� ��������
 ������ 4�	� ����� ��� A� ������ �� �>�������
� ���������� ������ ��� �� ET �� ��� �������L

ETH = ET

(√
x2 + y2 + z2√
x2 + y2

)
. �$�#�#�

3�������	���� ��� ��� ������� ��� ��� A��
	�� 	� ��� )�����	� +��
� ��
 ���

ETH = KTRIG

(
1√

x2 + y2
+

1√
x2 + |y|3

)
, �$�#�6�

(	�� x ��
 y 	� �)� 3 ��=�	����� ��
���
 '����	���� ���� 	� ���	���
 A� ��;�	�

	�� � )	�	)�) ���������� ������ �� 0 @�B� (�	�� ������'��
� �� � KTRIG ����� ��
�''��:	)����� 9"" @�Bcm�

4�� x ��
 y ����
	����� �� ��� ������� ��� 
����)	��
 ���) ��� ������ �� ����	��
�5-@� �� ��� ������ 3� �

	�	���� H�
���'�I ���) �������� ��� � �����)��	� ��	�� 
�� ��
��� ���'� �� ��� ������� D#$EL

x =
1

Etot

∑
i=l,c,r

Eixi + A sinh−1

(
B

Etot

∑
i=l,c,r

Eixi

)
, �$�#�7�

y =
1

Etot

∑
i=u,c,d

Eiyi + A sinh−1

(
B

Etot

∑
i=u,c,d

Eiyi

)
, �$�#�8�

(���� 3 ��
 B ��� '���)����� ���� 
�'��
 �� ��� ���� (	
�� ��
 ��� ������� ���'��
���'���	�����
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 ���'	�����
# @�B�� flag 	� ��� 	� ��� )������� 4�� �<4 (	�� ��� ��� �� +�
 � ������
 ����� ���
��	� )������� A�� ���(��
 	� ������� ��� ���(��� �� 	�� 4�	� ���A��� ��� ������	�� ��
b→ sγ 
����� �� 
	������ '��
���
 '������ ���� ��A�� $�0�0��

�� ��� ������� ��� �53< '����	���� (	�� 	����
�  ��)���������� ��������� ���(	��
��� ������ ��
 �'��	�� ����
	����� �� ��� �������� ���
	
��� ���) ��� '����	����� ���
��� '��
	�� ��� '���	A�� '��	�	��� 	� ��� �����	)���� �� '������ ��
	���
 A����� ���
)������ 4�� ������ 
�'��	��
 A� ���� � '����� ��� ���� A� �

�
 �� ���� �� ���
������� �����
� ����
� 3� ���	)���
 #"G �� ��� ��������� �)	�  ��)���������� A�����
��� )������ 2������	�� ��	� ������ 	�������� ��� �=�	���� �� ��� '����	����� (	�����
� �	��	+���� 	������� �� ��� A��������
�

M��� ��� ������ ��
 '��	�	�� �� ����� �������� ���� A��� 
����)	��
� ��� '����	����
��)'���� � )������ �� A� ���� �� ��� +��� 4��� �� ��� �<4 ���(���� �� �����	�� ���
��� 	����)��	�� ��������� ��� ����� +�
	���
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���� ��� 	
���	+�
 A� � ��	��	
���� �� �	�� 	� ��� ���� �(� ��'�������� ��
��� /�-� �����) �/�# ��
 /�6�� 4���� ��'�������� ����	�� �� ��A� ���)A��� 	� ���
����� ���	���� ��
 '	:�� ���)A��� ��� ��� 	���� '��� �|x| < 33 �)� |y| < 42 �)�� 4��
�����
� �� ��� ��A� ���)A��� �� /�# ��
 /�6 	� ��'��	�	���� ���'��
 �� �����������
'�
�� (	�� ��'����� ���
��� ��������	�� ��� ��� '����	����� ��� ��� 	���� '��� �� �����
��'��������� � �	)	��� ���)�����	�� 	� ���	���
 A� ��)A	�	�� A����� �� 6× 4 '	:�� �����
	��� H'���
�
'�
�I�

���) �	�� 	� ��� '�
� �� '���
� '�
� �� ����� �(� ��'�������� ��	��	
����� ���

����)	��
 �����
	�� �� ��� ����)� ���(� 	� +���� $�#�7� 4����� 	� ��� ����� '���
��������� ���� � ��(�� )�)����) ���� ������ 	� ��� 	���� '���� ����	�� � ������ �'���
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���� ����)� �� ��� '�
�
����(� )��� ��	��	
����� ���� ���� �� ��� '	:�� '���
�
'�
��

M RL

MU4

MU3

Pads:

MU3

Pixels: L

MU4

R

������ 	����
 5@?A ���������� 	
��	����	� �	���� �
� ���� ��� ���(�
����� 2��/�
�3% ��
����
��� ��/% �����	��1�
+ �
(� �
����
� 	
��	����	��� �� �/���
� 
� � �
����
� 	
��	����	� ��
����	���� �� ���+� ��� ��� �	���� 	
������� �
�� 	
��	����	�� ���� ��� ��/�
�% ���	� ���
������ �� ���	! ���
��% �(� �
 �(
���
� �	��������% �� 
����� ������

M��� � ��	��	
���� 	� ����
� � )������ 	� ����������
 ��
 �����)	���
 �� ���
�<4 ���(���� 4�� �<4 ���� ��� ��A� ��
 '	:�� ���)A��� �� /�-� ����	��� /�6�
/�# ��
 /�0� ��
 ��� )�	� ������� ��'�������� 45$� 450� 156 ��
 150 ��� ���
�����������	�� �� )��� ������� -� ��� )��� ��'�������� ���
 	� ��� ��	����� /�0 	� ���
���� ��� (	�� ���)A��� 	� ��� ����� ��	�����	���� �	��� ��� ����	��� '��	�	�� 
����)	��

A� ��� '����	���� 	� ��� '���	�� ������� ��� ����	��� ���'� '���)���� η 	� �'
���
 	�
��� )������ ��	�� � ��	'�� �	� ��	��	
���� ����
 	� /�0�

�
"���� �����
""��

4�� '��'��� �� ��� �	��
1� '����	���� D#6E 	� �� ����� 	
���	+���	�� �� ������
 '���	����
(	�� ����� ���������� )�)����)� pT � 4�� )�*��	�� �� ����� ��� ��
���� �π

±� K±� '��
4�	� ���A��� ��� ������	�� �� ��
���	� B �� Bs 
����� ���(� 	� ��A�� $�0�0�
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����	��� ������ ���� 	� ��� )������ 3� �''��'�	��� ��	��	
���� ����)� �� 	���������

	� +���� $�#�8 ������� ����	��� ������ ��
�� ����� ������� (�	�� �>���	���� 	)'�	�� � pT
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��	����	� �	����� �
� ��� ���� '� ���������� �+����� �3 �� ���
,���� �	����% 	
�����
����� �
 � pT 	(� 
� ��
(� ,�- ���L	� �3 �� ��� ,�4�� �	����% ���	�
�0�	�(���� � 	(� �� � 

��� 1�
(� 
� pT �

4�� �	��
1� ��'�������� 140� 14$ ��
 14# ��� '��	�	���
 	� ��� )����� ���	�� ��

	������� ���) ��� ������ �� 69" �)� 78" �) ��
 80" �)� ���'���	����� 4�� ���� �	.�� 	�
14$ ��
 14# ��� '��*���	�� ��'	�� �� ��� ���� �	.�� 	� 140 �����	�� ���) 4× 4 mm2 ��
8× 8 mm2�� (	�� ����� ������� 
����)	��
 A� ��� z '��	�	��� 4�������� ����� 	� ��(���
� ���
��
��� ������'��
���� A��(��� ����� 	� ��� ����	��� ����
A��
	��� '�����

M��� � ��	'�� ��	��	
���� 	� ����
� ��� �	��
1� '����	���� ��������� � )������
(	�� ����� '���)����� �:���'�����
 �� 45$� 4��� ����� ��� �<4 ���(��� �	�� �53<
'����	������ A�� ���	� 2�� 	� ������� 
�� �� ��� ����� �:���'����	�� ���) 14# �� 45$�

�����
""�� ������1

4�A�� $�#�$ ���(� ���������	��	�� �� ��� ���
(��� ���
 ��� ��� ����� 
	>����� '����	����
��'��� 4�� 
������� 
��� �6�� ����)�� �� ��� /�-� ��
 �	��
1� �����)� 	� �����

�����
 A� �'�	��� +A��� �� ��� '�������� A���
� A� '����	���� �	��A���
�� ������
 ��
��� ����� ��
� 4��� ��� �	)	��� �� ��� �<4 �	��A���
� ���� (	�� A� 
	������
 	� )���

���	� 	� ��� ��:� ����	���

4�� ������� ��)A�� �� )������� 	� ���	)���
 ��� � ����� �;�	''�
 ��
 �����	����

������� ��
 ��� �� 	�������	�� ���� �� $" /�.� 4�� ��)A�� �� ���'�� )������� 	����

A� ��� �53< '����	���� ��� A� ����
 A� �����	�� � �����	� ��������
 ����� �	� �������

�������� �:'�����	���� (	�� 	������	�� ETH�� 4�� �	)	� 	� �	��� A� ��� )�:	)�)
��)A�� �� )������� ���� ��� A� ���
��
 A� ��� �<4 ���(���� �� ��	� (��� ��� ���
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1����	���� ��� �� A���
� ������� 
��� ?�( 	� ��� )�������J�����

�53< 0$% 3.8µs 77 @AJ� ≈ 0 �ET > 0.8 @�B�

/�-� 7% �O6" �	��A���
�� 2.3µs 0"�8 @AJ� ≈ 0
$

�	��
1� 66 �O9" �	��A���
�� 1.1µs $#�8 @AJ� ≈ 0

��
�� 	���	
 "��� =
� ��� 
����	+ 
� ��� ���������� �+������ ��� ������� 
(��(� ���� ��
��������� �
� �� 5�6 ������	��
� �����

�'�	)	�� ��� �=�	����� (�	�� ��� '����	���� ���'�� ���� 	� *��� ����'��A�� ��� ��� �<4
���(���� 4�� ��)A�� �� )������� '�� ����� ���) ��� �	��
1� '����	���� 	�������� A�
������� � ������ $ 	� ��� 0
7
$ ��	��	
���� ����)� ��	�� $�#�8� 	� ������ 	�����
 �� ���
0
#
$ ����)��

�� 	� ��� ��� ����� �� (�	�� )�:	)�) '����	���� ���� ��� �<4 (	�� A� �A�� �� ���
+������ 4�	� 
�'��
� �� ��� ������ ���� ��
 �� ��� +��� '�����)���� �� ��� �����	��

���������

����� 
�� ���
������

3�� '����	���� )������� ��� �����)	���
 �� ��� �<4 ���(��� �� '�������� A���
�� (�	��
'�����) ��� ����� �����������	��� 4�� ����� ��'�� �� '��������� �4��� 41� ��
 4&��
�� ��� �<4 ���(��� ���� � ��� 	� ��))��� 	� �'	�� �� ��� ���� ���� ���	� '��'���� ���
���� 
	��	���� 4�� )�	� '���� ���L

• �� 	�'�� A�>�� ����-� ��� 	���)	�� )��������

• � '������	�� '���� 5�������	��� ��� '�����)�
 ��	�� <����' 4�A���� (�	�� ���
�������
 	� � ����������� '	'��	�� ����	������� ��
 �'����� �� � ����� ���;�����
�� 7" /�.�

• 
������� 
��� 	�������� ��
 A�>�� ����� 4���� ��� ��� '��� �� ��� 
������� ����
	� ���
��
 A� ��	� ��	��

• �� ���'�� ���- ��� �����)	��	�� �� '�������
 ��
 �'
���
 )��������

• B/� 	�������� ��� 	�	�	��	���	��� ����	�� ��
 )��	���	���

3 ��� ��)'����� 	� ��� �<4 '��������� 	� ��� <����' 4�A�� �<�4�� �� 	� ���
A�	�
	�� A���� ��� ��� ��� �� ��������	��� �� �<4 '�������� ���
� �� '�����)� 5�)'��:
��������	��� ��� A����� �' 	��� �)����� ��A
��������	��� ���� ��� A� 
��� A� � ��� ��
<�4�� 4�� <�4� �� ��� �<4 ��� �' �� 0%
A	�
�

�����A�� 23/� (	�� % A	�� 
��� ��
���� �

����� 3� ����� ���� ��� '�����) ��� �����	�� �� �' �� 0% A	�� ��
 ������ ��
% A	� �������

4�� <�4� ��� �������
 	� '������� �� ��;����	�� '	'��	�� ������ ���� ��� ������

A� � 7" /�. 	������� ������ 3� �� ����� ���� �� �A��� 0" /�.� ���� '�������� ���
�����;������ ���
�� �' �� �� ������� �� �A��� 7 )������� '�� ������ �	��� ��� 0"
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4��� ���� ����� �� ���	�� ��'������� �'����� 	� '�������� ��� '������	�� '�(�� �� ���
�<4 �)����� �� ��� �������	�� �� �' �� 7"" )	��	�� ��	�R� ������ '�� �����
�

4�� ������� �� ��� '	'��	�� ����� 	� $" ��� 4�� ��)A�� �� '	'��	�� ������ �����
 A�
��'� �)��� ������ �� ���� ������ ��� ��)'������ ��������
 A� ��� '�������� ���(���
(	��	� ��� )�:	)�) ����(�
 ������� �� �A��� 0" µs�

����- �
�/
�" 9�
��

4�� )�	� '��������� �� ��� �<4 ��� ��� 4���� �'�� ��� ����	'� �� � )������ ���) ���
�� ��� '����	����� �� ���) ������� 4��� ���� ���� ��� �	�� ���� ���+�) ��� '������ ��
� ������
 ������ 4�� �����	����	�� 	� ������	���� ��)'�	��
 �� ����� ���'�L

�	� 2��
 � )������ ���) ��� 	�'�� A�>�� ����-� ��
 ��������) ��� ���A�� �����
'���)����� 	��� ����� ����
	������ 4���� ����
	����� ��� ���
 �� �

���� � '���
�� ��� 
������� 
��� (���� �	�� ��� �:'����
 �� A� ����
�

�		� 2��
 	� 
������� �������� �� ��� ����� ������ ������ ��
 +�
 ��	'�� �	� ��	��	
�����
A��(��� ���) 	� � �	��� ������ (	�
�(�

�			� 5�)A	�� ��� ����
	����� �� ��� ��	��	
������� ����
 (	�� ��� '���)����� �� ���
	���)	�� )������ �� ��+�� ��� ����� '���)������ 5�
� ��� ��+��
 ����� '���)

����� 	� �� �'
���
 )������ ��� )�������� ��
 ���
 	� �� ��� ��:� '���������

���� 4�� ������ � 
��	�����
 '��� �� ��� �����	�� �����) 	� (�	�� 	� ����� ��� �	���
�	���� $�#�9 ���(� ��� ���)�����	�� �� � �����	�� ��'������� 	� 4�� ��������

4�� 
������� 
��� ��� �����
 A� ��� 4�� 	� ��� M	�� /�)��� �M�/�� �� �����	��
��� ���� 0$% ������ ��
 ��� ���� ����� �' �� #%6 
������� �������� '�� ������ ������
���) ��� ����� '���)����� �� ��� 	���)	�� )������ � ����� 2�� 	� �:������
� 4�	� 	�
��� +��� ������� ��
 ��� ����� ��� ���� �� ��� ����� ������ ������ 	� (�	�� ��� 4��
����� ��� �	� ��	��	
������ 3���� (	�� ���  K ��)A��� ��	� 
�+��� �� �

���� 	� ���
M	�� /�)��� ���) (�	�� �� ����� �� �' �� #$ A	�� ���������� 	� �:������
�

4�� +��� �������� �� ��� 
	>����� ������ ������ ��� ��	���
 (	�� ���'��� �� ����
����� �����
	�� �� ��� ����	��� '��	�	�� �� ��� �:'����
 �'��� '�	��� 4�� �	� '������
���) ��� M�/ 	� '�������
 A� � 5�	��	
���� /���	:� ���� ������� ��� ����
	����� ��
���	
 ��	'�� ��	��	
������ �� +���� $�#�! ��� ���	
 ��	��	
����� ��� ���(��

4�� ��� �� ����(�
 ��	��	
����� ���� ����� 	��� ������� ��� �������	��� �� ���
����	��� ���'� �� ��� ������ 3 �)��� 
��	��	�� 	� ����	��� 
	����	�� (���
 ������ ���
�����	�� '��	�	�� �� ��� '��	�	�� ��
 �����	�� ������ ������ (	�� ���'��� �� ��� .���

����� ������ 3 '���)���� h ���	���� 	�
	����� ��� )���	��
� �� ���� � 
��	��	��� 4��
��� �� ��	��	
����� )��� ������� �����
 ��� �:���'�����
 ����	��� '��	�	�� ��� ��� �	:
(	�� h = 0� 3 '��	�	�� ������	��� ��	�� 	� ��� ����	��� 
	����	�� (���
 �	�� �	�� �� ���
'���	A�� �:��� ��	��	
����� �� h = 1 �h = 2�� 4� 	����
� ��� 0$ '���	A�� ��	��	
�����
	�
	����
 	� �	�� $�#�! (� )��� ��� h = 3�

��� ���� �� ��� ��	��	
����� ����
 	� ��� 2��� ��� ����
	����� ��� ���������
 ��

�����)	���
 ��� ����� ��� ������ &��	�� ��	� �	)�� ��� 4�� 	� ��� �A�� �� ���
�� � ��(
)������� 4�� '	'��	�� '������	�� 	� ������
 ���	� ��� ����
 ��	��	
����� ��� '�������
�
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25 (TC1)
37 (TC2)

28 (TC1)
40 (TC2)

20 (TC1)
32 (TC2)

30 (TC1)
42 (TC2)

22 (TC1)
34 (TC2)

2

31 (TC1)
43 (TC2)

23 (TC1)
35 (TC2)

29 (TC1)
41 (TC2)

3

21 (TC1)
33 (TC2)

5

0

1 7

6

3
26 (TC1)
38 (TC2)5

24 (TC1)
36 (TC2)

4 2 27 (TC1)
39 (TC2)

4

5

6

7

0

1 3

108

9 11

2

4

54 (MC14)
58 (MS15)

56 (MC14)
60 (MS15)

57 (MC14)
61 (MS15)

55 (MC14)
59 (MS15)

7

6 2

320

21 23

22

TFU number (superlayer)

TDI message variable

TFU sector

x=0

y

x
y=0

Outer Tracker (TC area) Inner Tracker (TC area )

RoI
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Hit pattern for TFU

Hit pattern for TFU
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Optical transmitter
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BX number

Input connectors for
detector data

Remapped data

(from FCS backplane)5

BX clock and
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n∑
i=1

Eixi + C1 sinh−1(C2(
1

E

n∑
i=1

Eixi − xcentral cell)), �#�0�0�
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Inner ECAL : Ecoded = 127 × min(
√
E/280, 1),

Middle ECAL : Ecoded = 127 × min(
√
E/100, 1), �#�0�6�

Outer ECAL : Ecoded = 127 × min(
√
E/65, 1).
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xCOG = xc + ∆x
Er −El

El + Ec + Er
, �#�0�7�

x = C1 sinh−1(C2xCOG − xc), �#�0�8�
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Binning resolution - cross summation

E/E = 0.10738( 4)/ EσInner: 

E/E = 0.07893( 3)/ EσMiddle: 

E/E = 0.07165( 4)/ EσOuter: 

Binning resolution - cross summation
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Binning resolution - nonet summation

E/E = 0.13187( 4)/ EσInner: 

E/E = 0.09128( 3)/ EσMiddle: 

E/E = 0.08096( 4)/ EσOuter: 

Binning resolution - nonet summation
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√
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E /E = σoffline

E /E ⊕ 0.081/
√
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(���� ��
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�

�� 
���
� ��� �
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 	� �	���� ���� (�� ���������

4�� �=�	���� ��
 ��*���	�� '�(�� 
�'��
 �� ��� ������ �������	�� �� ��� '����	�
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�� � 2��	�� �� �������� �2��� 	� ��� '����	����
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to (0,0)

z=1305cm z=1350cm

w

dd

−d
RoI

dξ

ξ

ξ

∆TC2

ξ=w/2 + x
COG

ECALTC2

infinite momentum track
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����(	��
� 
� ��� ����
� 
� &������� �+ ��� �7�E ����������� ��� ����	�
����
� 	
1��� ��� �
����
� ���	!� 
� �
�� ������1�
+ ��� �
����1�
+ 	������ �����	
�� 2ddξ3
��� ��� (�	�������+ �(� �
 ��� ������
 ���

(��
� 
� ��� ���������� 	
(���� 2w3�

4�� ������ 
�'��
��� 2�� �	.� 	� ��
�
 A� ��� )������ ���	�A�� ddξ� �� 	� 
�+��

�� �	�� ��� �	.� �� ��� 2�� �	� �)� �� ��'������� 45$� (��� 	�������
 A� wL

ddξ = ∆TC2 − w. �#�!�#�

&�'��
	�� �� ��� ������� �� ��� �����(�� ��� '���	��� 	� 
�?����
 A� �� ����� dξ
�� −dξ (	�� ���'��� �� � ����� �� 	�+�	�� )�)����)� 4�	� 
�?���	�� ����� 
�'��
�
�� ��� 	��������
 +��
 �������� ��
 '��	�	�� �� ��� ��
�23 )����� ��
 	� 	��������
'��'���	���� �� ��� )�)����) �� ��� '���	���� (�	�� 	� ����� �� A� ��� '����	����
������� ������� �� ��� ������������
 ������� ������ (��� ������ ���� ��� )�)����) ��
��� '���	���� ��� 2�� �	.� (���
 A� ��
�����	)���
� 3 H�����	��I ������ ρ 	� 	����
���

�� ����( ��� ������ �� A� ������ ���� ��� )�)����) A� � ������ ρ�� 4�� ���	�A�� dξ
���� ���
�L

dξ =
0.224ρ

E
. �#�!�6�

4�� �	.� �� ��� 2�� ∆TC2 	����'������ ��� 
�?���	��� 	� A��� �������� 
	����	���
��
 � 
�(�
�����
 (	
���

∆TC2 = 2dξ(zECAL − zTC2) + w
zTC2

zECAL
,

=
20.16ρ

E
+ 0.974γwcell. �#�!�7�

4�� ����� �� ��� '���)����� ρ ��
 γ ��� A� ������ �� (	��� �� ��� 
��� ���	��
'��	�
 �� $""" ���� (��� ��� �� ρ = 2 ��
 γ = 0.5� 4�� 
	���	A��	�� �� ∆TC2� 
���
�

���) �����
�
 )�������� 	� ���(� 	� +���� #�!�% ��� ��� ����� 
	>����� �53< '�����

� % ��
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��� �% ��
 ��
�����
� �	���
� �� ������� ���� ��
 ���
���� ��
 
� !�		 ��	� )
 	���
�
���� �
�
�����"
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& ��6�� ∆TC2

�
� &����% 5���
� ��� ?(��� �7�E� ���
1�
(�� ��
�� ���� ��� �
� ρ = 2 ��� γ = 0.5%
��� �������� (��� �
� ���� ��!��� �� �����

4�� ����� �� ρ = 2 ��)�����A�� ������ ��� �������	��� 
�� �� ��� ������ �������	��L
��� '��A�A	�	�� ���� ��� �53< '����	���� �������	)���� ��� ������ A� )��� ���� �
������ $ 	� ����	�	A��� �� ��� A� ���� 	� +���� #�%�7 �(	����� ����������

4�� ����� �� "�7 ��� γ 	� ��� (��� ������� ��(����� 4�� ����� ����)�� ���� ���
�'��	�� ����
	����� ��� �������� �� (	��	� � ;������ �� � ���� �	.�� 4�	� ������'��
� ��
������� �(� �� ����� �	)�� ��� (	
�� �� ��� ���� @����	�� 	� ��� ���	
��� 
	���	A��	��
���A�� #�8�0��

��(����� ��� ���	
��� 
	���	A��	�� ��
 ����	
���A�� ��	��� �' �� $"G �� ��� ���	


���� ��� ����	
� ��	� (	�
�(� �� ��))��	��
 	� ��A�� #�!�$� M� ��������� )�� �:'���
�=�	���� ������ 	� ��� ����� +�
	�� A� ��� �<4 (	�� ����� ������ �� γ ��
 ρ� 4�� �����
(	�
�( �������
 ��� �������	)���
 �����	�� ��
 ��� �(� ������ ��'�������� '����� ��)

'������� ��� �������	)���
 �'��	�� �������	��� 4�� �:���'����	�� �=�	����� ��������

������ 	� ��������� �	���� ���� ��� ������ �� ��A�� #�!�$�

P (∆x < wcell/4) P (∆y < wcell/4)

����� %6�0 %%�$

/	

�� %8�6 %!�#

-���� 9!�8 %0�$
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�� ����	
 *��	��
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� 	
(����� 2�� >3 ������ ����
� ���(��� �
� �/����

���
�� #�
�� ��
��� ��
����
��+ P ���� ��� �����(�
 ∆x,y ������� ��� ���������� ������� ��� ��� 5
��� 7��


��(�� �� ������ ��
� 
� � C(����� 
� �� �7�E 	�

 ��6��

�
��/ z !
�
���
��

4�� ����)'�	�� �� ��� �53< '����	���� �� � +:�
 z ����� �� 0#7" �) ��� � �	)	��� �>���
�� ��� �:���'����	�� �=�	���� �� ��� �'��	�� �������	��� ��� ��� /	

�� ��
 -����
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5����;������� ��� �	.� �� ��� 2�� 	� ��
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)
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 �� 150� ��� ���'� tx 	� �	��� A�L

tx =
xTC2 − xPC1

ZTC2 − ZPC1
. �6�6�$�

&�!��!��
�� �� ��� ��������  �����

��� ��� ����� '��'�����
 ������� ��� 41� ���������� ��� )�)����) ������ �� ��� ��	�	�
���) ��� ����� '���)����� A��	�
 ��� )������ 4�	� )�)����) ������ 	� �	��� A� ���
����	��
	��� )�)����) pz� ��
 ��� ����� ���'�� A����� ��� )�����L

p̂x ≡ px
pz

; �6�6�#�

p̂y ≡ py
pz
. �6�6�6�

�	��� ��� ������ ��� ����)�
 ��� �� ���� A��� 
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p̂y = ty. �6�6�7�
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	��� '����� ��� �:���'����	�� �� ��� ����� ���)��� A����� ���
)����� ��
 ���� �� ��� ����� ���)��� A��	�
 ��� )����� ��	��	
� 	� ��� )	

�� �� ���
)������� zMAGNET = 450 �) � 4�� ���'� A����� ��� )����� p̂x 	� ��������� �	��� A�L

p̂x =
xTC2 − tx(ZTC2 − ZMAGNET)

ZMAGNET
. �6�6�8�

4�� ����	��
	��� )�)����) pz 	� 
����)	��
 ���) ��� 
�?���	�� ����� tx − p̂x�
4�� ��
�23 )�����	� +��
 	� �''��:	)����� ��	���) ��
 ����	A���� � pT �	�� ��
"�86" GeV/c 	� ���	.����� 
	����	��L

pz ≈ 0.640 GeV/c

tx − p̂x
. �6�6�9�
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� 3 )������
 +��
 )�' 	� ���
 �� ������
pz �� ������ ��� x ��
 tx�

pz = pz(x, tx). �6�6�%�
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σcell
x =




0.12 �) /
√

12 = 0.035 �) (Inner Tracker)

0.52 �) /
√

12 = 0.15 �) (Outer Tracker, 5mm)

1.04 �) /
√

12 = 0.30 �) (Outer Tracker, 10mm)
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	�) �� ��	������ X ��
 ��
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�?���	�� ∆θ 	�
	�������� '��'���	���� �� ��� )�)����) �� ��� '���	���D8EL

∆θM.S. =
0.0136 @�B

p

√
X

X0

[
1 + 0.038 ln

(
X

X0

)]
�6�6�0"�
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σx = σcell
x ⊕ σbinning

x ⊕ σalign
x . �6�6�00�
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x
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320
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0.12 cm/bit
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1.732 cm/bit

0.035 cm
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0.250 cm

0.500 cm
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�� C(�������

4���!��
�� �� tx

3���� +�
	�� � �'��� '�	�� 	� 45$� ��� '��'��� �� ��A��;���� �����	�� A� ��� �<4 	�
��� 
����)	���	�� �� tx� ���) ��� 
�+�	�	�� �� tx �� �;� 6�6�$ �����(�L

σtx =
(σx,PC1 ⊕ σx,TC2)

zTC2 − zPC1
⊕ tx

(σz,TC2 ⊕ σz,PC1)

zTC2 − zPC1
⊕ σbinning

tx ⊕ σM.S.
tx . �6�6�0$�

�	� σbinning
tx

4�� ���'� tx 	� ��
�
 	��� ��� )������ ���	�A�� dξ� ��� (�	�� �	��� A	�� ��� ���
�
4�� ��
	�� �����	�� ��� �(� 
	>����� A	� �	.��L

tx − x/z =

{
0.0002dξ dξ < 96

0.0015(dξ − 96) + 0.0192 96 ≤ dξ < 128
. �6�6�0#�



��( ����������� �� ��� ��� ���,��-

 [cm]MC - XFLT=X∆
-4 -2 0 2 4

∆ddN

to
t

N1

0

0.2

0.4

0.6

0.8
|x| < 23 cm 

=0.194(16) cmxσ
|x| < 23 cm 

 [cm]MC - XFLT=X∆
-4 -2 0 2 4

∆ddN

to
t

N1

0

0.2

0.4

0.6

78cm < |x| < 189cm

=0.298(16) cmxσ
78cm < |x| < 189cm

 [cm]MC - XFLT=X∆
-4 -2 0 2 4

∆ddN

to
t

N1

0

0.02

0.04

|x| > 189 cm 

=0.580(32) cmxσ
|x| > 189 cm 

 [cm]MC - XFLT=X∆
-4 -2 0 2 4

∆ddN

to
t

N1

0

0.5

1

23cm < |x| < 78cm

=0.205( 5) cmxσ
23cm < |x| < 78cm
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a) b)

d)
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7��

 ��(��� ��� ���

(��
� �� ��������
+ ����(��� �� �
(� ����
�� 
� x���� C(
��� ���

(��
��
��� ��� ������ 
� ��(������ .���� �
 ��� �������(��
��� *
� ��	� 
� ����� �������(��
��% 
�
+

�� C(������ 
� ��� ����	�
� ��� (���% �
 �1
�� ����
������� �0�	���

��� !7G �� ��� )������� ��� ����� �� dξ 	� A���( !8� (���� 	� ��� � A	��	��
�������	�� �� "�"79 )��
�

�		� σM.S.
tx

/���	'�� �������	�� 	� ��� )����	�� A��(��� 150 ��
 45$ �	��� � )�)����)

�'��
��� �����	A��	�� �� σtx � 4�� ���'� tx �� )������
 ���) ��� x ����
	�����
�� 150 ��
 45$ ��� A� ����	
���
 �� ��� ������� 
	����	�� �� ��� ����� A��(���



(	( 4���!��
�� �� ��� ��� ��)

150 ��
 45$� �� ����

σM.S.
tx = ∆θM.S./

√
2. �6�6�06�

3���)	�� ���� ���� �� ��� )����	�� 	� 150 ��
 45$ �����	A���� �� ��� �������	���
(� �A��	� � ����� ��	������ A��(��� 150 ��
 45$ ���� ��A�� 6�6�$� �� X =
0.3745X0 ��
 �����;������

σM.S.
tx =

0.00566 @�B

p
�6�6�07�

4�� �������	�� 	� tx 	� ��� ;��
���	� ��) �� � �������� ���) C ��
 � )�)����)

�'��
��� ���) ���) )���	'�� �������	��L

σtx =
0.00566 @�B

p
⊕ C. �6�6�08�

�	��� σx 
�'��
� �� x� C ��� 
	>����� ������ ��� ��� 
	>����� x ���	��� �� ��A�� 6�6�#�
4�� ����� �� C 	� )������
 A� +��	�� �;�6�6�08 �� ��� )�)����) 
�'��
���� ��

��� �������	��� �	���� 6�6�6 ���(� ��� )������)��� 	� ��� ���	�� 23.04 < |x| < 78.5 ��
�� �:�)'��� 4�� ������� ��� ��� ���� ���	��� �� x ��� ���(� 	� ��A�� 6�6�6 ��
 ��)'���

�� ��� �:'�����	����

 [GeV]MCP
20 40 60

 [r
ad

]
T

x
σ

0

0.05

0.1

0.15
-2x10

Chi2 / ndf = 12.8 / 9

 1.81e-05 ±C        = 0.00074 

Multiple scattering

Chi2 / ndf = 12.8 / 9

 1.81e-05 ±C        = 0.00074 

������ �����
 "�������	� 
� σtx 
�
��� �
����(� 
� �
�	��
�� ��� ���
������	� �� .���� ���� �C� 8�8�, %
����� C ��� 
��� �� � ���� ����������
&� 	�� �� ���� ���� �(
���
� �	���
������ �� �������.	��� �
� �
�����
��
1� �� GeV�

�� 	� ����� ���� σtx 	� 
�)	����
 A� ��� �������	��� 	� ��� x '��	�	�� �� ��� �	���  	�

�	�� �>���� ��
 ��� �������	��� 	� ��� z '��	�	�� �� ��� ��'�������� �	�� �� �	��	+����
�����	A��	���

4�� �	)����	�� ����(� ��� ���
� �� ��� ���
��� 	)'����)��� �� ��� ����� '���)����
�������	�� 
��	�� ��� �<4 �����	��� M������ ��� ����� '���)����� x�y ��
 ty ���
+:�
 ����� '���	�� 45$� tx 	� ���������� �'
���
� 4�� �������	�� 	� σtx 	� 	��������
'��'���	���� �� ��� 
	������ 	� z �� ��� ���� ��'������� �� 45$� �	���� 6�6�7 ���(� ����
σtx 	)'����� A� �''��:	)����� � ������ �� �(� �� ���� ��'��������



��0 ����������� �� ��� ��� ���,��-

W:WX$#�"6 $#�"6XW:WX9%�7 9%�7XW:WX0%!�# W:WY0%!�#

���) σx "�9#�6� )��
 "�8#�$� )��
 "�!!�$� )��
 0�#!�%� )��


���) σz "�"# )��
 "�"% )��
 "�$" )��
 "�6" )��


σbinning
tx �"�"8 )��
 �"�"8 )��
 �"�"8 )��
 �"�"8 )��


������	�� C "�9#�6� )��
 "�86�$� )��
 0�"$�$� )��
 0�7�$� )��


)������
 C "�90�#� )��
 "�96�$� )��
 0�"#�$� )��
 0�8�$� )��


��
�� �����
 5���(������ ��� �/��	����
� �
� ��� �
����(� ����������� ���� C 
� σtx
2�C�8�8�, 3 �� ��0����� ����
�� 
� x� ��� ���

(��
� �(� �
 ��� (�	�������+ �� ��� x ��� z
�
����
� 
� ��� ���	���
���� ��� ������� �0�	�� ��� ��
�� ��������
+�

4���!��
�� 
� y ��/ ty

4�� �������	�� 	� y� ��
 �����;������ ��� ty� 	� �	��� A�L

σy = σpretrigger
y ⊕ σFLT binning

y ⊕ σ∆Z
y ⊕ σM.S.

y �6�6�09�

�	� σpretrigger
y

4�� �'��	�� �������	�� �� ��� '����	���� σpretrigger
y ��� A��� ��������
 	� ��� '��


�	��� ���'��� ���A�� #�8�$��

�		� σFLT binning
y

3������� ty �y� 	� ��� )������
 A� ��� �<4 ���(���� 	�� ����� 	� ��
A	���
 A�
��� �<4� (�	�� �>���� ��� �������	��� 4�� ��
	�� �����	�� ���
 ��� ��	� ��� �(�

	>����� A	� �	.��L

η = 20/11.15 × yECAL y < 66.9

η = 128 + 8/11.15 × yECAL y > 66.9 �6�6�0%�

�6�6�0!�
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(	( 4���!��
�� �� ��� ��� ��2

4�� )��� �	��	+���� A	� 	� η �	��� ��� �	�� �� ty� 4�	� ��
	�� �����	�� 	� ���
�'�	)��� �	��� ������ ��� η A��(��� 0$" ��
 0$% ��� ��� ���
� �� ��� ��� �
��������
��(����� ���� ��� ����	��� ��( �� ��� ������� ���� �� ��� �53< '����	���� �������
��� A� ���	�� 
����)	��
� 4�� ������	�� �������	��� ��� 0.16 �) �"�0$ )��
� ��

0.40 �) �"�#" )��
��

�			� σM.S.
y

4�� �����	A��	�� �� )���	'�� �������	�� ��� A��� ��������
 ��� ��� ������� )�

)����) �� ��� �������� 	� ���� �� ��� ����� �53< ���	���� ����)	�� � ���� ��
	

��	�� ������ A��(��� ��� ������ ��
 ��� �53< ���� �	�� #�%�0��

�	�� σ∆Z
y

4�� ����)'�	�� ���� ��� '���	��� ��	�	����
 ���) �0, 0, 0� ��
 ���� ��� z '��	�	��
�� ��� '����	���� ������� (�� +:�
 �� z = ZECAL = 1350 �) 	� ��� ������ �� ��
�

	�	���� �������	���� �� �	��� �� ����� �� ��� ���'� ty �� ∆Z/ZECAL ≈ 5/1350 =
0.4%�

4�� �������	��� 	� y ��
 ty ��� ��� ����� 
	>����� ���	��� �� ��� �53< ��� �	���
	� ��A�� 6�6�7� 4�� ;��
���	� ��) �� ��� �����	A��	��� 	� y 	� �''��:	)����� �;���
�� ��� �������	�� )������
 ���) ��� ���	
����� �� ty� ����� ����
 A� �� �

	�	����
�����	A��	�� ���) � ���
.��� 
�?���	�� 	� ��� ����	��� 
	����	��� (�	�� (�� ����)�
 ��
A� ���
�:	������ 4�	� ����
 ������� ��� ��� ���� ���� ��� )������
 �������	�� 	� ty 	�
��	����� (���� ���� �:'����
�

σy D�)E σty D)��
E

����� /	

�� -���� ����� /	

�� -����

σpretrigger "�$#�0� "�67�0� "�96�7� "�09�0� "�#7�0� "�77�6�

σFLT binning "�08 "�6" "�6" "�0$ "�#" "�#"

σ∆Z "�"6�0� "�$#�$� "�60�$� "�"9 "�06 "�#0

σM.S. 
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���
�
�	�������� 
� σty ��� ���� �1�
(���� �� ��� �1����� �
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��. ����������� �� ��� ��� ���,��-

#�#�( +���	��� �	� ���� ���������	

4���!��
�� �� p̂x

4�� ���	.����� ���'� p̂x 	� �A��	��
 ���) ��� �:���'����	�� �� ��� ����� �� ��� )	

��
�� ��� )����� ��;� 6�6�8�� 4�� �������	�� 	� p̂x ����	��� �� ��� �����(	�� ���)�L

σp̂x =
σx

ZMAGNET

⊕ σtx ⊕ σbinning
p̂x

⊕ σM.S.
p̂x ⊕ σextrapol.

p̂x
⊕ σE−loss

p̂x
. �6�6�$"�

�	� σextrapol
p̂x

4�	� 	� ��� �������	��� ���) ��� ����)'�	�� ���� ��� �:���'����	��� �� ��� �����
A����� ��
 ����� ��� )����� ��	��	
� �� ��� )	

�� �� ��� 	��������
 )�����	�
+��
 �� ZMAGNET = 450 �) � 4�	� 	����
�� ���� ��� �������	��� 	� ��� z '��	�	��
�� ��� ������� (�	�� 	� ����)�
 A� ��� �<4 �� ZTARGET = 0� M� ���	)��� ���
����� �������	��� 	� ��� z '��	�	�� �� ��� )����	�� '���� �� 7 �) � (�	�� �	���

σextrapol
p̂x

=
5 �)

450 �)
× 〈p̂x〉 ≈ 0.4)��
. �6�6�$0�

�		� σE−loss
p̂x

 ��)���������� 	��	
� ��� )����� ������ ��� �<4 �� �����)��	����� �������	)���
px/pz� M� ���� �

�����
 ��	� 	���� 	� ����	�� #�%� (���� (� ���	)���
 ��� �������
������ ���� �� ��������� 	��	
� ��� )����� �� $"G� 4�� 
�?���	�� 	� ��'	����� 0"G
���� ���� ���	)���
� (	�� �� �������	��� �� �''��:	)����� 7G� ��
 ���������L

σE−loss
p̂x

≈ 0.05 × (tx − p̂x) = 0.032 @�B/pz. �6�6�$$�

4�	� 	� �������� �� �''�� �	)	� ��� σE−loss
p̂x

� �	��� ��������� ���� ���� ��>���
 ���
����� ������ ������ ��� 	)'�	�	��� ��*����
 A� ��� �53< '����	�����

�			� σM.S.
p̂x

4�� )������)��� �� p̂x 	� �>����
 A� )���	'�� �������	�� 	� ��� )����	�� A��(���
��� ������ ��
 ��� 2�5�� (�	�� ������'��
� �� X = 0.65X0 ��
 ��������� ����
�;� 6�6�0"�

σM.S.
p̂x = 0.011 @�B/p. �6�6�$#�

�	�� σbinning
p̂x

4�� ��
	�� �����	�� ��� p̂x 	� 
��	��
 ���) ��� ��
	�� �����	�� ��� ξ ��
 �


*����
 A� � ������ 0.91/300.16� �	���� 6�6�8 ���(� ��	� �����	�� ��
 ��� ������	��
�������	����

3�� �����	A��	��� �� σp̂x ��� ��))��	��
 	� ��A�� 6�6�8� 4�� ���	)���
 ������ ���
C ��� ��	����� ������ ���� ��� )������
 ������� 4�	� ����
 A� �����
 A� �� 	)'��'��
�����)��� �� ��� ��������	��� �� ��� )	���	��)��� �����	A��	��� �� ��� �������	�� �� x
��
 tx�

4�� ��)A	��
 �>��� ��  ��)���������� ��
 )���	'�� �������	�� 	� )������
 ���)
��� )�)����) 
�'��
���� �� σp̂x � (�	�� 	� ���(� 	� +���� 6�6�9� ���) ��	� 
�'��
����
(� ���	)��� σE−loss

p̂x
= 0.017 @�B/p�



(	( 4���!��
�� �� ��� ��� ��#

 [bits]xp
0 512

z
/p x

p

0

0.91
xp in z/pxFLT coding of p

192 320 448

0.070

0.238

0.574

xp in z/pxFLT coding of p

|px/pz|<0.07 

0.07<|px/pz|<0.24

0.24<|px/pz|<0.57

0.57<|px/pz|<0.91

192

320

448

512

0.36mrad/bit

1.31mrad/bit

2.63mrad/bit

5.25mrad/bit

0.10 mrad

0.38 mrad

1.51 mrad

resolutionbin size#binsRegion

0.76 mrad
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 �

�� 
� ��� ���	! �� ��� ������ px/pz �� ��� *E�
������� 1�����
� p̂x� ���� �(�	��
� �� ����1�� ��
� ��� �(�	��
� �
� ξ% ��
�� �� .�(�� 8�8���
��� ��/��(� 
� �,� ���� ��� �
� ��

 	�
��� ��� ��
(
� �� ��� �
 ∼��� �����

4���!��
�� �� pz

4�� )�)����) 	� ����	��
	��� 
	����	�� pz 	� �A��	��
 ���) ��� 
�?���	�� �� ���
'���	��� 	� ��� )�����	� +��
 ��;� 6�6�9�� 4�� ���)� �����	A��	�� �� ��� �������	�� 	�
pz ���L

σpz = σbinning
pz ⊕ σE−loss

pz ⊕ σextrapol.
pz ⊕ σdefl.angle

pz �6�6�$6�

�	� σdefl.angle
pz

4�� �������	��� 	� tx ��
 p̂x ���
 �� �� �������	��� 	� ��� 
�?���	�� ����� ��
�

W:WX$#�"6 $#�"6XW:WX9%�7 9%�7XW:WX0%!�# W:WY0%!�#

σx/ZMAGNET "�%$�6� )��
 "�8!�0� )��
 0�0�0� )��
 0�7�0� )��


σtx "�90�#� )��
 "�96�$� )��
 0�"#�$� )��
 0�8�$� )��


σbinning
p̂x

"�0 )��
 "�#% )��
 "�98 )��
 0�70 )��


σextrapol
p̂x

"�07�0� )��
 "�$0�0� )��
 "�6#�0� )��
 "�9$�$� )��


σE−loss
p̂x

X"�"#$ GeVJpz X"�"#$ GeVJpz X"�"#$ GeVJpz X"�"#$ GeVJpz

σM.S.
p̂x

"�"00 GeVJp "�"00 GeVJp "�"00 GeVJp "�"00 GeVJp
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��� 7��

 ���(
���
� ��
� ���
�����(�
� �+ ��C(����� p > 40 GeV/c�
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Chi2 / ndf = 13.4 / 15

 1.91e-05 ±C        = 0.000941 

 0.00115 ±D [GeV]  = 0.0194 

 for |x|<78cmxpResolution in 

 D/p⊕fit: C 

Chi2 / ndf = 13.4 / 15

 1.91e-05 ±C        = 0.000941 

 0.00115 ±D [GeV]  = 0.0194 ������ �����
 ���

(��
� �� p̂x
�� � �(�	��
� 
� ��� �
����(��
H� ������	� 
(���
1�� �
 ��� ���
��
� |x| < 78.5 �� % ����� ���
�
����(������������� ���

(��
�
���� �� ���

���� ��� �
����(�
��������	� �� �(� �
 �(
���
� �	���
������ ��� )���������
(�� �� ���
������ ��� ��1�� �+ � ���� D/p%
���	� �� 
������� ��
� ��� .��

�����;������� �� �� �������	��� 	� ��� )�)����) ���	)���L

σdefl.angle
pz

pz
=

pz
0.640

[σtx ⊕ σp̂x ] . �6�6�$7�

4�� �������	��� 	� ��� 
�?���	�� ����� 	� �	��� 	� ��A�� 6�6�9 ��� ���� �� ��� ����
���	��� 	� x� �������� (	�� ��� ������	�� �����	A��	�� �� σpz �

W:WX$#�"6 $#�"6XW:WX9%�7 9%�7XW:WX0%!�# W:WY0%!�#

σtx D)��
E "�90�#� "�96�$� 0�"#�$� 0�8�$�

σp̂x D)��
E 0�"0�0� 0�"8�0� 0�#�0� $�6�0�

σdefl.angle
pz

p2z
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(��
� �(� �
 ��� (�	�������+ �� tx ��� p̂x� ��� (�	�������+ �� ���
��=�	��
� p̂x − tx 
���� �
 � ���� �� ��� �
����(� ���

(��
�% ���� ��	������ ��
�
���
��

+
�
 ��� �
����(�% ��1�� �� ��� 
��� �
��

�		� σbinning
pz

4�� �������	�� 
�� �� A	��	�� �>���� �����(� ���) ��� ��
	�� �����	�� ��� pz�
(�	�� ���
�L

pz(in @�B) =




200/(45 − pz) 0 < Pz < 25

400/(65 − pz) 25 ≤ Pz < 45

1600/(125− pz) 45 ≤ Pz < 125

1600 Pz > 125

. �6�6�$8�
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4�� ������� ������ �� σbinning
pz /pz ��� ��� 
	>����� ���	��� �� pz ��� "�9%7G� 0�"$G

��
 0�6G ���'���	�����

�			� σE−loss
pz

L M������ p̂x (�� ���� �>����
 A� ������ ������ ������ ��� )������ pz 	� ����
�>����
 A� ������ ������ ������ ��� )������ 4�� �����: 
������� ������ ��
 ���
�:	� (	�
�( �� ��� �����: 
������� ����� �)���� �� � ��	������ �� �''��:	)�����
X = 0.16X0� 4�� ������ ���� �'�����) ��� ��������� A����� ��
 	��	
� ��� )�����
��� ���(� 	� +���� #�%�$�

�	�� σextrapol.
pz

L 4�	� ���) �	��� ��� �������	��� 	� ��� �����	�� A��(��� ��� )�)����)
��
 ��� 
�?���	�� 	� ��� )������ (�	�� 	� )������
 ���) ��� ����� 
	����	�� A�

�	�
 ��� )����� A� ����)	�� ��� ����� �� ���� ��	�	����
 ���) �x, y, z� T�"�"�"��

M� ���	)��� ��	� �������	��� 	� � /���� 5���� �	)����	��� A� )�����	�� ���
(	
�� �� ��� 
	���	A��	�� �� pz(p̂x − tx) �� ���(� 	� +���� 6�6�%� M� ���� ����
/���� 5���� ����� ������ ��
 ��;�	�� ���� ��� �������� 
	
 ��� ��>�� ��� ������
���� 
�� ��  ��)����������� �� (� ���� ��� 2/� �� ��	� 
	���	A��	�� �� ���
�������	��� 	� ��� �:���'����	��� 	� �	���

σextrapol.
pz /pz =

0.0355

0.636
= 0.056. �6�6�$9�

 [GeV]MC
z p×)MC

x - t
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Uncertainty in deflection
Mean  = 0.636

RMS   = 0.0355

 7.45 ±C        = 475 

 0.000266 ±  = 0.635 x

 0.000316 ±   = 0.0259 σ

������ �����
 @�	�������+ �� ���
��
���
� ������� ��� ��=�	��
�
���
� ��� ��� �
����(�� ���
�
����(� �� ��1����
+ ��
�
��
��
��
 �
 ��� ��=�	��
� �� ���
������% ���	� �� ��������� ��
tx − p̂x� ��� ����� 
� ���� ����
����(��
� �� � ����(�� 
� ��� (��
	�������+ 
� ���� �
����(� �����
�����

5�)A	�	�� ��� �����	A��	���� σpz/pz ����	��� �� � �������� ���)� (�	�� 	� 
�)	����

A� σextrapol.

pz � '��� � ���) ���� �	��� �	������ (	�� ��� )�)����)� (�	�� 	� 
�� �� ���
�������	��� 	� ��� 
�?���	�� ������ �	���� 6�6�! ���(� ��� )������
 σpz/pz �� � ����

�	�� �� pz ��� ��� ���	�� x < 78 �)�  ��� ��� �������� ��
 ��� ���'� ��� 	� �����)���
(	�� ��� ������ �:'����
 ���) �;� 6�6�$9� ���'���	���� ��A�� 6�6�9�
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�� ������	��� �
 ��� ����
� |x| <
78 	�% ����� �� �/��	� ��� ����


(��
� �
 �� σpz/pz = 0.056 +
1.9(1) × 10−3pz% �� ����
���
�
��������� ���� ����� ���(
���

 [GeV]MC
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Chi2 / ndf = 5.36 / 8

C = 0.055(1) 

slope = 0.0017(1) 
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���	)������ ��� �<4 ���������� ��� 	����	��� )��� �� ��� '���	A�� '�	�� �� ������ ��
�''��	�� ������� 3 )��� ��� (���
 ��'	����� A� �:�����
 �� $ GeV/c2� (�	�� 	)'����
� )	�
 �������	�� �� ��� ��;�	��
 J/ψ
)��� �������	��� 4�� )�)����) �������	���

����)	��
 A������ �	��� �� �:'����
 �������	�� �� ��� J/ψ )��� �� ��'	����� $""

#"" MeV/c2� (�	�� 	� ��=�	��� �� 	)'��� �� �=�	��� )��� ���� ��(����� 	� ��� �A�����
��  ��)���������� ��������� � �	��	+���� ��	� 	� '������� (�	�� ����
 ���
 �� �=�	����
������� �	���� 6�6�0" ���(� ��� 
	���	A��	�� �� ��� J/ψ )��� �� ������������
 A� ���
�<4� A��� (	�� ��
 (	����� ������ ������� M	�����  ��)���������� ��������� ���
�=�	���� �� � )��� ��� �� $ GeV/c2 	� �''��:	)����� !"G�

%�& ����5 7��	�� �4�	���$

4�� ����� �����������	�� �=�	���� �� ��� �<4 	� )������
 	� 
��� ��
 	� � /����
5���� �	)����	�� �� ��� '��A�A	�	�� �� ����������� �� �:������ ��������� ������ ���
���� �:������ ��������� ����� � )����	��
χ2 	� 
����)	��
 ���) ��� )������
 �����
'���)���� ���	
���� (	�� ��� �<4 ������L

χ2 =
(xFLT − xRef)2

σ2
x

+
(tFLT
x − tRef

x )2

σ2
tx

+
(tFLT
y − tRef

y )2

σ2
ty

. �6�7�0�

4�� �'�	)���� )����	�� �<4 ����� 	� ����� �� A� ��� ��� (	�� ��� )	�	)�) χ2�

#�(��  �	����
���	 �� �&���	�� ������	
� ���
$�

4�� �:������ ��������� ������ ��� ����������
 ���) �������� 	� ��� �53< ��
 �����
���)���� 	� ��� �����: 
�������� 4�� -���� 4������ 	� ��� ���
� �� ���� (� ��� �����
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 &�1������ ����
�	��
� ���� �� ��	
����(	��� �+ ��� *E��

����	�	�� ���
 ��A	���
� �� ��� ���� �=�	���	�� �� ��� -���� 4�������
4���� ���)���� 	� ��� �����: 
������� ��� )�����
 �� �������� 	� ��� �53< A�

��;�	�	�� ��� 
	>������ 	� y A��(��� ��� ������� ��
 ��� �:���'�����
 �����: ���)���
�� A� ���� ���� $ �)� �������)���� ��� �����: ���)��� 	� �:���'�����
 	� x �������
��� )������ ���	�� ��� ������������
 ������� ������ �� � )�)����) ���	)���� 4��
���	
���� 	� x �����
 ���� A� ���� ���� 9 �)�

4� ��)��� '���	A�� ���� )������� (� ���� ��;�	�� � �	�� ������������
 	� ��� 2�5��
��� (�	�� ��� ������'��
	�� ����� 
	����	��� ��� (	��	� $ )��
 �;��� �� ��� ���'�� ��
��� �:���'�����
 ����� ���)���� 4�� �������� )��� ���� � ���������� ������ �� )���
���� 0 GeV� � ��� ���� 	� 	
���	��� �� ��� ��� 	)'���
 �� '����	���� ���������

4�� ����� '���)����� A��	�
 ��� )����� �x, y, tx, ty� ��� ��� '���)����� ���) ���
�:���'�����
 �����: ���)��� �� �����	�� ����	�� 45$� 4�� ����� )�)����) 	� 
����

)	��
 �� ��� )�)����) ��� (�	�� ��� �:���'�����
 �����: ���)��� ��	��	
�� (	�� ���
x ����
	���� �� ��� �53< �������� 4�� )�)����) ������ 	� ���������
 ���) ��� �����
)�)����) ��
 ��� 
	����	�� �� ��� ����� ���)��� 	� ��� �����: 
��������

����- ���������� ���
/��!�

4�� ����� '���)���� �������	�� �� ��� �:������ ������� )������
 ���) ��� ���	
����
(	�� ��� /���� 5���� ���������� 	� ���(� 	� ��A�� 6�7�0

σx��)� σy��)� σtx �)��
� σty �)��
� σpz/pz σp̂x �)��
� σp̂y �)��
�

"�$7!�6� "�$#!�6� "�800�!� "�787�0!� "�"#77�7� "�#9%�!� "�$!7�7�
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����(� ���

(��
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� �������	� ���	!�� �
 �1
�� �(
���
�
�	�������� �0�	��% ��� ���	!� ��� ��C(���� �
 ��1� � �
����(� 
� �
�� ���� 8� GeV�
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z=0

∆ x < 7cm
∆ y < 2cm
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vertex detector
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ECAL

x
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Tx < 2mrad∆
Ty < 2mrad∆

(Px,Py,Pz)
(Tx,Ty)

(X,Y)

track segment

RICH ring
ECAL cluster
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extrapolated track
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���� ���
(�� ���
�������	 .�
� ���� � �(����P(��� ���������
� ��� ��C(���� �
 �
��� �
 ��� �7�E 	
(�����
���� 	
(���� �(�� ��1� � �����1���� �����+ 
� �
�� ���� , ���� &� ������
�% � �&7� ���� ��
��C(����% �
� ���	� ��� ���	! �

��� �� �
�� ����	��
�� ��� ������ � ���� �C(�
 �
 ��
�� 
� ���
�/����

���� ���	!�

�	��� ����� �:������ ��������� ������ ��� A� ����������
 A��� 	� 
��� ��
 	� ���
/���� 5���� �	)����	��� (� ��� ��� ���) �� ���	�� ���� ��� /���� 5���� �	)����	��
'���	
�� �� �������� 
����	'�	�� �� ��� 
�������� �	���� 6�7�$ ���(� ��� 
	���	A��	��
�� ��� ���	
���� �� ��� ����� ��)'������ �� ��� )�)����) ������� 4�� ���	
��� 
	���	

A��	��� �� ��� /���� 5���� �	)����	�� ��
 ����� �� ��� 
��� �� $""" ��� 	� �����)����

#�(�� !������

4�� �<4 ����� +�
	�� �=�	���� 	� )������
 ���) ��� 
	���	A��	�� �� ��� χ2
'��A�A	�	��
�� ��� )����� �� �:�)'�� �� (�	�� 	� ���(� 	� +���� 6�7�#� �� ��� ����� +�
	�� �=�	����
(���
 A� 0""G ��
 ����� (���
 �� ������ '������� ��� 
	���	A��	�� �� ��� χ2
'��A�A	�	��
(���
 A� ?��� /	�)������ �� A�
 )������ ���( �' �� ����	�� (	�� � χ2
'��A�A	�	�� ��
�''��:	)����� .����

M� ����	
�� � ��������� ������ ��� (�	�� ��� ������� �<4 ����� ��� � χ2
'��A�A	�	��
�� ���� ���� 0G �� ��)�����
� 4�� �<4 ����� +�
	�� �=�	���� 	� ����L

εFLT track = 0.01 +

∫ 1

0.01
P (p)dp∫ 1

0
P (p)dp

, �6�7�$�

(���� P (p) 	� ��� '��A�A	�	�� �� ��� χ2
'��A�A	�	�� �� ��� )�����
4�A�� 6�7�$ �	��� εFLTtrack ��� ��� �<4 �=�	���� ���� �� $"""� 4�� ������� ���) ���

/���� 5���� �	)����	��� A��� 	� ��� $""" ��
 $""$ ����'� ���� ��A�� 6�6�$�� ��� ����
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4�� 	������
 
	��������� �p→ 0� ��� ������	��
 	��� � ��	������ ���
'�����A��	��
'��� �� ��� ����� ����	��� 4�� P5& ������	���	�� ������) ����(� � ��'����	�� �� ���
���� 
	������ �H����I� ��
 ����� 
	������ �H���
I� '��� �� ��� 	�������	��� 4�� ���
 ��

���� '�������� ��� ��'�����
 A� � ������	���	�� ����� µF �

�� ��� ����� 
	������ '��� �� ��� ����� ����	�� ��� ����
)�)����) ��������� |Q|
��� ��=�	����� ����� �� ������ ���� ��� '�����A��	�� �:'���	�� �� ��� ����� ����	��
���������� 4�� ������ �� |Q| )��� A� � ��( �	)�� ΛQCD(≈ 0.2 @�B)� 	� � �������	�� ��
��� '�����A��	�� ���	�� 	� �� '��
��� ���	�A�� ��������

�� ��������� '�������� (	�� ��( )�)����) ��������� ������ A� ���������
 '�����

A��	����� �	��� ���� ��� ��	������� ��(����� ���� ��� A� )������
 ��'�������� ���� 	�

��'
	������	� �������	�� �:'��	)�����

 ��� ��� �����)��	���	�� ����� µR ��
 ��� ������	���	�� ����� µF ��� ��A	����� '�

��)������ 4��	� ������ ��� ��'	����� ������ �� A� �� ��� ��
�� �� ��� ����� �� ��� ���

	�������	�� Q�

µF = µR = Q. �7�0�9�

4�� �(� ������ ��� ������� ���	�
 �� ���	)��� ��� �������	��� �����	���
 (	�� ��� ������

�	�� �� ��� '�����A��	�� �:'���	��� 4�� �	���� ��� ��
�� �� ��� '�����A��	�� ��������	���
��� (����� ��� 
�'��
���� �� ��� �:��� ������ �� µR ��
 µF (	�� A�� 3���� ������	�	��
��� '�������� (	�� ������ Q2 < µF 	��� ��� '����� 
���	�	��� ��� '��
���	�� ����� ����	��
��� � ���
 �������	�� '������� ���������
 �� ��
�� αnS 	� (�	���� ��L

σ(P1, P2) =
∑
i,j

∫
dx1dx2f

(1)
i (x1, µ

2
F )f

(2)
j (x2, µ

2
F )

n∑
m=2

σ̂mij (p1, p2, α
m
S (µ2

R),
Q2

µ2
F

,
Q2

µ2
R

).

�7�0�%�

(���� �����	�
 
���� ��
���	� ��� 
���� �����
���	

3� ���
	�� ��
�� �<-� 	� αS� ��� '��
���	�� �� � cc̄ '�	� ��� �����	A��	��� ���) �����
���	�� ��
 ;����
���	
;���� ���	�	���	��� 3�� '��'������� 	� ��� ������'��
	�� ����

)�� 
	����)� ���� +���� 7�0�#� ��� �>
����� A� �� ����� m2

c � 4�� ����) ;���� )���
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������ �����
 E������ 
���� *�+��
��� �������� �
� cc̄ ��
�(	��
��
��� �����(� 1���(�
��+ 
� �� ��
	�����
 �
(
� �� 4m2

c % ���	� �� 	
��
�
�
+ (��� �� 1�
(� �
� ��� ��	�
���
����
� �	�
� µF �

'���	
�� � ������� ���	�� ��� ��� ����� �� ��� '������� (�	�� 	� ��������� ����� �� A�
��� )	�	)�) �	�����	�� �� �� �
������� �:������L

µ2
F = Q2 = 4m2

c . �7�0�!�

4� ���	)��� ��� �������	��� �������	��� �� ��� ���������
 ����� ����	��� ��� ����) ;����
)��� mc 	� ��������� ���	�
 A��(��� ��� ��(�� ��
 �''�� �	)	�� �� 0�$ ��
 0�% GeV/c2�
���'���	�����

�	��� mc > ΛQCD� � '�����A��	�� �''����� �����
 �	�� �������A�� ������� ��� ���
'�����	� ����� ����	�� ��� ����) '��
���	��� (�	�� 	� ��� ��� ���� ��� ��� �	�����
?������� 4�� <- '�����	� ����� ����	��� ��� D7!EL

σcc̄gg(m
2) =

πα2
S

3m2

[
(1 + 4

m2
c

m2
+
m4
c

m4
) ln(

1 + λ

1 − λ
) − 1

4
(7 +

31m2
c

m2
)λ

]
, �7�0�0"�

σcc̄qq̄(m
2) =

8πα2
S

27m2
(1 +

2m2
c

m2
)λ, �7�0�00�

(���� λ ≡√1 − 4m2
c/m

2 ��
 m2 = x1x2s�

(���# �����	 ��	������

4�� '����� 
���	�	�� fi(x,Q
2) ������ A� ���������
 '�����A��	����� 4���� ��� )���

'���)���	���	��� ���	��A�� ���� ���� A��� +� �� 
��� ���) ���	��� �:'��	)����� �'��

�	�� ����� ���	��� 	� A��� x ��
 Q2� �	���� 7�0�6 ���(� ��� 54�P7< D8"E ;�����
���	
;���� ��
 ����� 
���	�	�� �� ��� '������ ��������
 �� ��� ����� Q2 = 4m2

c �
3� 	)'������ '��'���� �� ��� '����� 
���	�	�� 	� �''��:	)��� ����	�� fi(x,Q

2) ≈
fi(x)� �� ���� ��� 
�'��
���� �� ��� ������	���	�� ����� 	� (���� �� ��������� ���
���	��	�� (	�� x 	� ������L ��� 
�'��
���� �� ��� '��
���	�� ����� ����	�� �� mc 	�

�)	����
 A� ��� '����� 
���	��� ��
 ��� A� ��� '�����	� ����� ����	��� �	��� ���
����� 
���	�� ��'	
�� 
�������� (	�� 	������	�� x� ��� cc̄ '�	�� ��� ��������� '��
���

(	�� �� 	����	��� )��� ���� ��� ��������
 �� 2mc ��
 ��������� (� ���� ���� 7�0�7�L

x1x2s ≈ m2
J/ψ. �7�0�0$�
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(���� �� �� ����
������ �	�
� �
�
	���� ��
�(	��
� 
� Q2 = 4m2

c � 2�3 ��
�� ��� 7��G4E ������+ �(�	��
� �
� u% ū ��� �
(
���
2�3 ��
�� � 	
�1

(��
� 
� ��� ����
� ��������� 
� ��� ��
�
� ���� ��� ��������� �� � ������(�
�(	
�(� 2��
� �������������
� ���P# : ,;3 �� � �(�	��
� 
� xF % ���(���� x1x2s = m2

J/ψ�
��� qq̄ 	
�1

(��
� �� ��� �(� 
� �

 =�1
(��� ��� ����
� ��������� ��� 
������� ��
� ��=��
1����
� -��8 : �;�

(���(  ���� �����
���	 �� ������ ������

4�� ����� ����	��� ��� ����) ��
 A����� ��
��'��
���	�� ���� A��� ���������
 �� ��:�

��
���
	�� ��
�� D8#� 86� 87� 88� 89E (�	�� 	����
�� ��� �>���� �� ���� ��
 �	����� �������
�	���� 7�0�7 ���(� ��� ������� ��� ����) ;���� )����� �� 1.2� 1.5 ��
 1.8 GeV/c2 	� �
��)'��	��� (	�� �:'��	)����� 
��� �� +:�
 ������ �����	���

3 ���� ��:�
��
��:�
��
���
	�� ��
�� ��������	�� ��� ����� ;���� '��
���	�� 
���
��� ��� �:	��� �	��� ���'� 	� ��	� ��������	�� ���� �������� A��� ����� D8%E�

(���0 ���	������ ����	���

4���� ��� ���	��� �''������� �� 
����	A� ��� ���������� )�)����) �� ��� cc̄ '�	��L

• ������3��
 �
�� ����)�� ���'�� A����
 <-� ��� �� )��� ����	�	�� ������ ���
 �� � ���
.���
pT �� ��� cc̄� 3 '����A��	�� �''������ ��(����� ��� ���� �	�� ���	�A�� ������� ���
��=�	����� ����� pT �

• 8���
��
� ����� ���� ��������
4�� 
����	'�	�� �� ��� �����	�� �� ��( pT '���	���� ������ A� ���
��
 	� � '��

���A��	�� )������ ���� '�������� ��� '��� �� ��� �	���� �(	�� �������	��� �� ���
������	���	�� ���)��� ��;� 7�0�0�� -�� ��� �>���	���� ��'��
��� ��� �A�����
 pT
�'����� A� ����	A��	�� �� 	���	��	� ���������� )�)����) �kT �� ��� '������� 4��
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�
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�� pA 	


���
��% 	�
	(
���� �
 AE? �
� 1���
(� 1�
(�� 
� mc ��� mb� ��� �
� 	(�1�� ��
� ���
	���� ��
�(	��
� 	�
�� ��	��
�% ��� �
��
� 	(�1�� ��1� ��� ���(�+ 	�
�� ��	��
�� ��� (����
��� 

��� 
���� ��� 
������� �+ 1��+��� ��� ��	�
������
� �	�
� µF ������� mQ/2 ��� 2mQ�
�/���������
 ����% ����
+ ��
� *����
�� ./�� ������ �/���������% ��� �
�
 ��
���

pT �� ��� cc̄ '�	� 	� ���� 	����	��
 ���) ��� �kT �� ��� '������� -�� ���������
����)�� �kT �� A� 
	���	A���
 �����
	�� �� � @����	�� 
	���	A��	��L

P (�kT ) =
b

π
exp(−2bk2

T ), �7�0�0#�

(���� kT = |�kT |� 4�	� 	���	��	� ���������� )�)����) �	��� �	�� �� � ����� pT 	�
��� +��� ������ (�	�� 	� 
	���	A���
 �����
	�� ��L

dσ

dp2
T

∝ exp(−bp2
T ). �7�0�06�

4�� pT 
	���	A��	��� �� +:�
 ������ �����	�� ��� ��'��
���
 	� ��� ���	��� �� ���
'������ 〈kT 〉 =

√
π/4b �� ��� ��
�� �� 0 GeV/c�

• ���"������
��
4�� '��
���	�� �� cc̄ '�	�� �� ���� �	�� pT �pT > 10 GeV/c� 	� ��������� 
����	A�

A� ��� ����)�����	�� �� ���
 ������� ��� cc̄ '��
���	�� �� ��
�23� (� ���

	������
 ��	� )�����	�)� �	��� ���� pT < 5 GeV/c�
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5���)��	�)� � A���
 ����� �� � cc̄ '�	�� 	� �''��:	)����� � ���
�����	�	��	� �����)L
��� ������� �����	�� β �� � c ;���� 	� ���	)���
 �� β2

c ≈ 0.23 D7%E�
4�� cc̄ '�	� 	� �	����� A���
� ��
 ��� cc̄ 	�������	�� 	� 
�)	����
 A� ��� �:������

�� �	���� ������� �� ������� �� '��	����	�)� � ���
 
����	'�	�� �� ��� �'�����) ��
����)��	�) ������ ���� +���� 7�$�0� ��� A� �A��	��
 ���) ���
�����	�	��	� ;�����)
)�����	��� ��	�� � 5����)A
�	�� A	�
	�� '�����	��� A�� �

	�� � ���) ���� �������
���+��)��� � ����� 
	�������

V (r) = −4

3

αS(1/r
2)

r
+K2r. �7�$�0�

����� r 	� ��� 
	������ A��(��� ��� �(� c ;����� ��
 K(≈ 430 /�B) 	� �����
 ��� ���	��
����	���

 (2S)ψ
γ

γ

γ

γ

γ

γ

γ γ

γ
γ

γ
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ηc(1S)

hadrons

hadrons hadrons

hadrons

radiative
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hadrons
hadrons
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χc1(1P)

χc0(1P)*

*

π π η,π0

  (1S)ψJ/

=JPC 0−+ 1−− 0++ 1++ 2++

������ ��	��
 ��� ���	��(� 
� 	����
��(� ������% ����	����� ��� �������1� ��������
�� �������
��0����� 	����
��(� ������ ��� ��� �
������ ��	�+ �
���� ?�
+ ��

������
����� ������
��

� ��� 
��� 	���� ������

� ��� ��
��� ��� �
��
 ����(��� J/ψ +��
� ��	
(��� ������
��
��
� �
�� ψ′ ��� χc� ��� �
����
� γ∗ ������ �
 ��	�+ ��
	����� ��1

1��� �� ������������
1���(�
 ��
�
�% ���	� ��	
(��� ��� ��	�+� �
 e+e− ��� µ+µ−�

(����  �����	��� ��
�%� / �	����
� �	� ����
� J/ψ �����
���	

3�� ������ (	�� )����� �A��� ��� �'�� ����) ��������
 mDD̄ = 2MD 
���� ��������
�� � DD̄ '�	� ��
 ��������� �����
 ��� A� ����	
���
 �� ����� A���
 ������� 4��
��A
��������
 ����)��	�) ������ ��� 
���� �������
)�����	����� �� ��
���	������ ����

����� ��� ��A*��� �� ���������	�� ��(�L
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• &�!��� �95$6 �1�����1
�	��� A���
 ������ ��� ������ �	����� ������� ���� ������ ���	�	���� 	��� � �	����
������� ������ ������

• & ���
�1 ������ ��
��
4�� ;����	�� C = (−1)L+S )��� A� ��������
 	� ��� 
����� 4�� ������ ηc� χc0
��
 χc2 ���� 5TO0� ��
 ��� 
���� �	� �(� ������ �� �(� '������ �5�γ�T
0��
���� � 
���� 	� ���A	

�� ��� J/ψ ��
 ψ′� �	��� ��� ����� ������ 5T
0�

• ?��"E� �������
3 )���	�� �'	�
0 '���	��� )�� ��� 
���� �� �(� 	
���	��� )������� �'	�
0 '���	�����
4�	� ���A	
� ��� 
���� �� � χc1 	��� �(� '������ �� �(� ������� �������� ���� �

���� ��������� 5 '��	���

• *F8 ��!�
4�� -��A�
[(�	�
�.��� ���� ������ ���� 
������ ���� ��� )�
	���
 A� ��� ��
)��� ���
 ������� ���� ��
���
 ������ 4�	� )���� � A���
 cc̄ ������ (	�� � )���
A���( ��� DD ��������
 �����	���� ���A���

4�� ������ J/ψ ��
 ψ′ ���� ��� ��)� ;�����) ��)A��� �� ��� '������ 4��� ���

���� 	��� � ��'��� '�	� �	� � �	����� '������ �	��� ��� ������ 
���� ���� 	� ��''�����

A������ �� ��� -[� ����� ��� ��'���	� A�����	�� ���	� �� � J/ψ 	� �� �''���	�A�� 0$G�
4�	� )���� ��� J/ψ �����	���� ���� �� 
����� �:'��	)��������

3� �:�	��
 ����)��	�) ����� ��� )��� � ��
	��	�� �����	�	�� �� � ����)��	�)
����� �� ��(�� )���� �� 	���������
 	� +���� 7�$�0� �	��� 	� 	� �:'��	)������� 
	=���� ��
��'����� � 
	������ '��
���
 J/ψ ���) � J/ψ� ���� ��	�	����
 ���) �� �:�	��
 ������
��� ��))�� 
�+�	�	�� �� ��� J/ψ '��
���	�� ����� ����	�� 	����
�� ���� ���


�(�
'��������L

σJ/ψ = σ
J/ψ
direct +

∑
σχcJ × Br(χcJ → J/ψγ) + σψ

′ × Br(ψ′ → J/ψX), �7�$�$�

(���� Br() 	�
	����� ��� A�����	�� ���	� ��� ��� �����	�	��� /������)���� ���(
���� �''��:	)����� 77G �� ��� J/ψ ��� 
	������ '��
���
 ���� ���� D8!E ��
 �����

����� �����	��� 4�� 	�
	���� '��
���	�� 	� '��
�)	������ ���) χc1,2 �#7G� ��
 ψ′

�0"G��

(����  �����	��� ��������	

/��� �� ��� cc̄ '�	�� ������
 	� � '�����
������� 	�������	�� (	�� ����)��� 	��� � DD̄
'�	�� -��� � �)��� �����	�� �∼7G� (	�� A	�
 �������� ��
 ���) � ����)��	�) ������
3 +�) ��
������
	�� �� ��� ���)��	�� �� ����)��	�) 	� ��	�� ����	��� 4�� ��� 	����
	� (������ �� ��� ��� �c̄ '�	� )��� ���� A��� ������
 	� ��� ��)� ������ ������� �����
�� ��� ����)��	�) ������ 4�� �����(	�� ����� )�
��� ���� A��� '��'���
 �� 
����	A�
����)��	�) ���)��	��L



)	� &������
�� ���/���
�� �$#

&�!��� � ������
�� ��/�! 5&%�6

�� ��� ������ ���'����	�� )�
�� D9"E � �������
 cc̄ '�	� ��� A���)� ������ ������� A�
��
	��	�� � ���� ������ ���� cc̄ '�	� ��������
 �� ���� (	�� � )��� A���( ��� DD̄
��������
 ��� � �����	� '��A�A	�	�� AH �� ���) � A���
 ����� H L

σH = AH

∫ 2MD

2mc

dm
dσ(m)

dm
, �7�$�#�

(���� m2 = x1x2s� �	��� ��� '��A�A	�	�	�� AH ������ A� ���������
� ��	� )�
�� ������
'��
	�� �A������ ����� ����	���� ������������� �(� '��
	��	��� ��� A� )�
�L 
	>�����	��
'��
���	�� ����� ����	��� �����
 A� ��� ��)� �� ��� ��� ����)��	�) ������� �:��'� ���
�� �A������ ���)��	���	�� ������ AH � �������)���� ����� ����	�� ���	�� �����
 ���

�'��
 �� ��� ������
��
)��� �������  ��� '��
	��	��� ��� 	� �������A�� �����)���
(	�� �A������	��� D8!E�

&�!��� �
�"!�� ��/�! 5&��6

3 )��� �	������ ��
 '��
	��	�� 
����	'�	�� �� ����)��	�) ���)��	�� 	� ��� ������
�	����� )�
�� D90� 9$E� �� ����)�� ���� ��� cc̄ '�	� 	� ������
 	� � ������ ������� �����
(	�� ��� ��)� ;�����) ��)A��� �� ��� ����)��	�) ������ 4�� ����� ��� ��� 
����
��� �;����� �''�	��A�� �� ��� '��
���	�� �� ��� ����)��	�) ������ �� 	)'�	�� ����
���� � ��A��� �� ��� 
	����)� ��� cc̄ '��
���	�� ��� �����	A��� �� ��� '��
���	�� ��
� ����)��	�) �����L �� ����)��	�) ����� ��� A� '��
���
 ���) �� �
������� �����
A������ �� ������ �������	��S 5
'��	�� ���������	�� ���A	
� ��� �����	�� �� � J/ψ ���)
����� ���	�� �� ���
	�� ��
��� 4��������� ��� ��(��� ��
�� 
	����)� ��� O(α3

S) ��� ���
'��
���	�� �� J/ψ� ��
 O(α2

S) ��� ��� '��
���	�� �� ηc �+�� 7�$�$��

ηc J/ψ

a) b)

������ ��	�	
 E������ 
���� �������� �� ��� 7


(� #���
�� 5
��
 �
� ��� ��
�(	��
� 
� ηc 2�3
��� J/ψ 2�3� &� ��� 7#5% ��� 
������ 
���� J/ψ ��
�(	��
� �� O(α3

S) �� � 	
���C(��	� 
� 7
�����+ 	
����1���
��

4�� '��A�A	�	�� ���� � cc̄ '�	� (	�� ������� ;�����) ��)A��� (	�� A	�
 	��� �
����)��	�) ����� H 	� �	��� A� ��� �;���� �� ��� ��
	�� (��� �����	�� �� ��� ��	�	�L

σ(H(2S+1LJ)) =

∣∣∣∣ dldrlRnl(0)

∣∣∣∣
2

σ(cc̄(2S+1LJ). �7�$�6�



�(7 J/ψ ���/���
�� 
� �' ��!!
�
���

4�� (��� �����	�� Rnl ��� A� ���������
 ���) ����\
	����� �;���	�� (	�� � '�����	��
V (r) �� �	��� 	� �;� 7�$�0� ��� ����� �� ��� ��	�	� ��� A� �A��	��
 ���) ��� ��'���	�

���� (	
�� D8!E� ����

Γ(ψ(nS)→ l+l−) =
16α2

9M2
ψ(nS)

|RnS(0)|2
[
1 − 16

3

αS
π

]
. �7�$�7�

4�� 5�/ '��
	��	�� ��� ��� ���	� �� �
	����� J/ψ ��
 ψ′ '��
���	��

σψ
′

σJ/ψ
=

Γ(ψ′ → l+l−)

Γ(J/ψ→ l+l−)

M3
J/ψ

M3
ψ′

≈ 0.24, �7�$�8�

	� 	� ���
 �����)��� (	�� ��� )������
 ����� �� "�$# D9#E� ��(����� ��� '��
	��	��
���� σJ/ψ �����
 A� ��� ��
�� 	� αS(m

2
c) ≈ 0.20 �)����� ���� σχc 	� �� ���	���� (	��

�A������	��� �� +:�
 ������ �����	��� (���� �	)	��� ����� ��� �A�����
� /�������� ���
������ �	����� )�
�� ��	�� �� 
����	A� ��� 
��� �� J/ψ ��
 ψ′ '��
���	�� �� �	�� pT �
���� �	�� pT J/ψ '��
���	�� 	� 
�)	����
 A� ����� ����)�����	��� (�	��� 	� ��� 5�/�
��� ���� ����� 	� �����	��	�� (	�� �(� ���
 ������� ��
 	� ��������� ��''�����
 A� α2

S�

&�!��� ����� ��/�! � +4G&
 ������
���
��

3 ������ �''����� �� ����)��	�) ���)��	�� 	� ��� ������ ����� )�
��� A���
 �� ��
�>���	�� ������ �����
 ���
2����	�	��	� P5& ��2P5&� D96E� �� 	� �	)	��� �� ��� ������
���'����	�� )�
�� 	� ���� 	� ����(� ��� ���
'�����A��	�� �����	�	��� ���) �������
 cc̄
'�	�� �� ����)��	�) ������� A�� 	� 	� A�	�� �� )��� ���	
 �������	��� ����
��	����

��� ���� cc̄ '�	� 	� � ������ ����� �%� �� ������ �	���� �0� ����� n �	� �'��������'	�
�����	�� n =2S+1 LJ�� ����� 	� � �����	�	�� '��A�A	�	�� 〈OH

1,8(n)〉 �� A���)� � ����)�

�	�) ����� H � 4�� �2P5& ������	���	�� ���)��� ��� ��� '��
���	�� ����� ����	�� ��
����� H ���� 	����
�� ��� �����	A��	��� ���) ����� �����	�	���L

σH =
∑
n

σcc̄1,8(n)〈OH
1,8(n)〉 �7�$�9�

�� �������� �� ��� ������� AH �� ��� ������ ���'����	�� )�
��� ��� ���
'�����A��	��
)���	: ���)���� 〈OH

1,8(n)〉 ��� �	� '�	��	'��� A� ���������
 	� �2P5&� 4�� �	�����
�����	A��	��� ��� ��� ��)� �� ����� �� ��� 5�/L

〈OH
1 (n)〉 =

9

2π

∣∣∣∣ dldrlRnl(0)

∣∣∣∣
2

. �7�$�%�

4�� ����� ��� ��� ����� )���	: ���)���� 〈OH
8 (n)〉 ����
 A� 
����)	��
 ��	�� ����	��

�2P5& ��������	���� �� '����	��� ��(����� ���� ��� �:������
 ���) +�� �� 
���� 3�
��
��
��
)���	��
� ���	)��� ��� 〈OH

8 (n)〉 	� '�(��� �� ��� ����� ;���� �����	�� v ��

��� )��� m ��� A� �A��	��
 ���) ��� �2P5& <������	��� -�� ��������� ����� 	���
������� ���� ��� ���
	�� ��
�� )���	: ���)���� 	� ��� +��



)	$ +��!��� �>���� 
� J/ψ ���/���
�� �(�

��� ��� 
	���� J/ψ '��
���	��� ��� 
�)	���� )���	: ���)���� ��� D97EL

〈OJ/ψ
1 (3S1)〉 =

9

2π
|R(0)|2 = 1.16 GeV3 �7�$�!�

〈OJ/ψ
8 (3S1)〉 = 6.6 × 10−3 GeV3(from fit) �7�$�0"�

∆
J/ψ
8 ≡ 〈OJ/ψ

8 (1S0)〉 +
7

m2
c

〈OJ/ψ
8 (3P0)〉 = 3.0 × 10−2 GeV3(from fit) �7�$�00�

4�� �	��
pT J/ψ 
��� ��� A� (��� 
����	A�
 A� �2P5& ������	���	��� 	� ��)A	���	��
(	�� ����� ����)�����	��� ��(����� 	� ��)�	�� �� A� ���� ��( ���������� �2P5& (	��
A� 	� '��
	��	�� ����� )������)����� �� ��� �A����� �� ���	�A�� ������� ���) <���	��
��������	���� �2P5& 	� � )�
�� (	�� � 
	��������	���� ����� ��)A�� �� ���� '���)������
&	>����� +�� �	�� ������ ��� ��� )���	: ���)����� ���� ��� 
	>�� A� �' �� �� ��
�� ��
)���	��
�� /�������� ��� �� ��� ����� ��(� ���� '��
	��	��� �� �2P5&� ��)��� �����
�� �	�� pT � ��� J/ψ �����
 A� '��
�)	������ '��
���
 	� � ������������ '����	��
 ������
	� �� ���	���� (	�� 
��� ���) 5&�� /��� 
��� ��� ���
�
 �� 
����)	�� ��� ������ ��
��� )���	: ���)���� �� � '���	�	��� ��=�	��� ��� )���	����� '��
	��	����

&�# ������� �����
 	� J/ψ �������	��

(���� A/����	��	
� �� �����
���	 
���� ��
���	�

1�����
������� ���
 �������
�������� 	�������	��� ��� ��))���� 
����	A�
 A� ���
@���A�� )�
��� M	��	� ��� @���A�� )�
��� ���� �� 	�������	�� 	� ����	
���
 �� �
���	�� �� A	���� ��A
����	�	��� A��(��� ��� 	��	
��� '����� ��
 	�
	�	
��� ���������
4���� ��A
����	�	��� ��� ����)�
 �� A� 	���������� �� ����� ����� ��� ��A
����	�	��� ���
'����� 	� ���>����
 ��
 	�������� (	�� ����� �������� (	�� ��� ��)� ����� ����	��� 4��
����� ��)A�� �� ��A
����	�	��� NpN ���� 
�'��
� �� ��� '�����
������� ����� ����	��
σinel
pN � ��
 �� ��� �)���� �� ������� )����� ����������
 A� ��� '������ 4�� ������


�'��
� �� ��� 	)'��� '���)���� b = |�b|� ��
 	� '��'���	���� �� ��� ������� 
���	��
ρ(b, z)L

NpN ∝
∫
d2�b

∫
dzρ(b, z)σpN . �7�#�0�

3� �>���	�� '��� ������ L(b) 	� 
�+��
 �� ��� �)���� �� ������� )����� ����������

A� � '������ 	��	
��� (	�� 	)'��� '���)���� b�

L(b) =

∫
dzρ(b, z). �7�#�$�

�� (� ���)��	�� ��� '��� ������� (� �A��	� ��� ������� ��	������ �����	�� tAL

tA(b) ≡ L(b)∫
d2�bL(b)

. �7�#�#�

4�	� �����	�� 	� � '��A�A	�	�� 
���	�� ��� ��� ��)A�� �� '���	�	'��	�� ��������� �� ����
tA(b)d2�b �	��� ��� '��A�A	�	�� �� ���� �� 	������	� ����	�	�� (	��	� ��� ���������� ����
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b

z

L(b)

b

NUCLEUS

PROTON PROTON REMNANT

WOUNDED NUCLEON (PARTICIPANT )

SPECTATOR NUCLEON

������ �����
 "��	�����
� 
� � ��
�
���(	
�(� 	


���
� �� ��� �
�(��� �
��
� ��� ��	
����
��
�
� ��
������� ���
(�� ��� �(	
�(� �� � �������� 
��� ��� 	


���� ���� ��� �(	
�
��� ���
�(���� 
� �
(���� �(	
�
�� 2�
�
 	�

�� �����	������3 �� ��
�
���
��
 �
 ��� ���� 
�����
������ ��� �(	
�(��

���)��� d2�b� 4�� '��A�A	�	�� ���� � '������ 	��	
��� (	�� 	)'��� '���)���� b �� �
������ ������� (	�� A ��������� ��
������ �:����� n 	������	� ��A
����	�	��� 	� ����

P (n; b)d2�b =

(
A

n

)
[tA(b)σpN ]n[1 − tA(b)σpN ]A−nd2�b. �7�#�6�

4� 
����)	�� ��� ����� ����� ����	�� ��� � �����	� '������� (� ��'���� σpN A� ��� �����
����	�� ��� ���� '������ ��
 	�������� ���� ��� 	)'��� '���)����� b�

4�� 	�����	�� 	������	� ����� ����	�� 	� ��� '��A�A	�	�� �� �� ����� ��� 	������	� ��A

����	�	��L

σinel
pA =

∫
d2�b
[
1 − [1 − tA(b)σinel

pN ]A
]
. �7�#�7�

�� (� ����	
�� ��� ������� �� � A���� �'����� (	�� ��	� '��A�A	�	�� ��� ����	�� ���
�� )��� 	������	� ��A
����	�	��� (��� b 	� �)����� ���� ��� ��
	�� R�

tA(b) =

{
1/σinelpN b ≤ R;

0 b > R
, �7�#�8�

���� ��� 	������	� ����� ����	�� 	� �	)'�� ��� ������� �� � 
	�� (	�� ��
	�� RL

σinel
pA =

∫
d2�b = πR2 = σpNA

2/3. �7�#�9�

�� ��������� ��� � ���
 '������ ���� �� ��� �����	�� �� � cc̄ '�	�� ��� ����� ����	��
	� ������� ��
��� �� )���	��
� �)����� ���� σinelpN � 2�'���	�� σpN 	� �;� 7�#�7 (	��
σcc̄
pN � 1� ��
 ���	�� ���� ��� ���
	�� ��
�� �����	A��	��� (� �A��	�

σcc̄pA(b) = tA(b)σcc̄pNA �7�#�%�

σcc̄pA = σcc̄pNA. �7�#�!�



)	$ +��!��� �>���� 
� J/ψ ���/���
�� �($

4�	� ����	�� (	�� A 	� �:'����
 �� ���
 ��� ��� '������ ��� (�	�� ��� ����� ����	�� 	�
)��� �)����� ���� σinel

pN �
�� �������� ��� 3

�'��
���� �� ��� '��
���	�� ����� ����	�� ��� ��)� '���	��� X 	�

'���)���	��
 ��

σXpA = σXpNA
αX . �7�#�0"�

�� αX < 1� ��� '��
���	�� 	� ��''�����
 A� ��� ������� ���	���)���� -�� ��	�� ���	)���
��� 	������	� 	�������	��� �� α = 2/3 ��� A� ����	
���
 �� � ��(�� �	)	� ��� α�

�� ��� ��:� ���'���� (� '������ � )������)��� �� ��� A

�'��
���� �� J/ψ '��


���	��� '���)���	��
 A� αJ/ψ� 3 ����� �� αJ/ψ < 1 	�
	����� � ������� ��''����	�� ��
J/ψ '��
���	��� �� HJ/ψ ��''����	��I� B��	��� )�����	�)� ���� A��� '��'���
 ����
��� ����� J/ψ ��''����	��� 4��� ��� A� ��A
	�	
�
 	� H	�	�	�� ����� �>����I ��������
�>���� �� ��� '������ ���� ���) � cc̄ '�	�� ��
 H+��� ����� �>����I ��>���� ������	��

��	�� ��� ���)��	�� �� � J/ψ��

(���� �	����� ����� ���
��

���/�,
�"

&��'
	������	� �������	�� �:'��	)���� ���� ���(� ���� ��� '����� 
���	�	�� fAi (x,Q2) 	�
�����	 ��� 
	>����� ���) ��� '����� 
���	�	�� 	� �	���� '������ ���� D98E ��
 ����������
�����	��� 4�� '����� 
���	�� ��� A� 
�'����
 �� �������
 	� � �������� 
�'��
	��
�� ��� ����� �� x� 4�	� �>��� 	� ��))���� �������
 �� �� H���
�(	��I�� 4�� �������
��������� �����	��� ��� ������� �	��� A� ��� ���	� �� ��� '����� 
���	�� '�� ������� 	�
��� ������� ��
 ��� 
���	�� 	� � '�����L

RA
i (x,Q2) =

fAi (x,Q2)

f pi (x,Q
2)

�7�#�00�

4�� '��
���	�� �� cc̄ �� ��
�23 	� '��
�)	������ 
�� �� ����� ���	�� ���� �	��
7�0�6A�� 4�� A����	��� �� RA

g (x,Q2) 	� ��� (��� ���(� ���� A�� 	� 	� �:'����
 �� A�
�	)	��� �� RA

q (x,Q2)� (�	�� ��� A��� )������
 �� �������A�� '���	�	��� �	���� 7�#�$
���(� � '���)���	���	�� ��� RA

g (x,Q2 = 9 GeV2 ) ��� ��)� �� ��� ������ )����	��� ���

�� ��
�23�

�� ��� �	��)��	� ���	�� (���� �� ��
�23 )��� �� ��� J/ψ ��� '��
���
 ��
 
�

�����
 �xF ≈ 0�� (� ���� x ≈ 0.15� �	���� 7�#�$ ���(� ���� ��� ����� 
���	�� ��� ��	�
x 	� �������
 A� ��� ������� ���	���)���� �� ���
�(	�� (��� ��� ���� �>��� '�������
(� �:'��� αJ/ψ > 1 �� ��
�23�

������ ����"1 !���

4�� '����� ?�: �� ��� 	��	
��� '����� ��� ���� A� �>����
 A� ��� ������� ���	���)����
1������ ��� �:'����
 �� ����� ������ (��� �������	�� )������ ���
	�� �� 
�'���	�� ��
'������ �� �	�� ������ ��� x�� ������� ������ ���� )�����	�)� ���� A��� '��'���
�

�@��� #�����!���$ !
 �������
 ��
 ��
��		 ����5������ �% ��
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gluon shadowing
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Ti
W

gluon shadowing
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 A(	
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��.	���
� 
� ��� �
(
� ���(	�(�� �(�	��
� �� ������������ �+ ���
����
� ������+ �(�	��
� ���P# : ,; ��
� ��=�� 1����
� -��8 : �;� Rg(x) �� ��� ����
 
� ���
�
(
� ������+ �� ��� �(	
�(� 
1�� ��� �
(
� ������+ �� ��� ��
�
�� ��� �	�
� 
� Q2 = 9���2

�� ���
�	��
� �
 
��� 	���� ��
�(	��
��

���� �� (�	�� ��� A� ���������	��
 A� ∆x = x′p − xp� ��� )�
	+���	�� �� ��� '�����
?�: �� ��� '��*���	�� '�����L

∆x = εixA
1/3 (from [99]);

∆x ≤ κL(b)/(xs) ∝ A1/3/(xs) (from [9%]);

∆x = CL(b)A1/3/(xs) ∝ A2/3/(xs) (from [9!]),

�7�#�0$�

(���� L(b) 	� ��� '��� ������� s ��� ������
��
)��� ������ �;����
� ��
 εi� C ��
 κ
)�
�� 
�'��
��� ����������

1����� ������ ���� �	��� � ������� ��''����	�� �� �	�� ������ �� x1 = xp ��� xF ��
(���� ��� '����� 
���	�� 	� �������� ��
���
� 5���������� ��� '��
���	�� ����� ����	��
	� �������
 �α > 1� �� ��( �� �����	�� ������ �� xF � ��� � ;����	���	�� �������	�� ��
��� �>��� �� ������ ���� )�����	�)� �� J/ψ '��
���	��� ��� D%"E�

����� ���� �������� 3���/��
�"

3� �>��� ���� 	� ���������
 (	�� ��� ������� )�
	+���	��� �� ��� '����� 
���	�	��� 	� ��
	������� 	� ��� 	���	��	� ���������� )�)����) kT �� ��� '������� 4�� '������ �� ���
	��	
��� '����� ��� ��A*��� �� � )���	'��
�������	��
�	�� 	�������	��� (	�� ��� �������
)������  ��	
�� ���
	�� �� � ��
���	�� �� x �� ��� '������� 	� ������ � A���
��	�� ��
��� kT 
	���	A��	��� (�	�� 	� '��'���	���� �� ��� '��� ������ L(b)L

〈k2
T 〉pA = 〈k2

T 〉pp + cL(b). �7�#�0#�

3� � �����;������ ��� pT �'�����) �� ��� J/ψ ���(� A���
�� (	�� ��� �	.� �� ��� ������
�������L

〈p2
T 〉J/ψpA = 〈p2

T 〉J/ψpp + λA1/3. �7�#�06�
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 	�� '��
�������� �� ��� 
�'��
���� �� 〈p2
T 〉J/ψ ��

��� ������� '��� ������ L̄� ���(� 	� +���� 7�#�#� ���( ��� �����(	�� A����	���L

〈p2
T 〉J/ψ = 1.20(2) GeV2/c2 + 0.080(1) GeV2/c2fm × L̄, �7�#�07�

(���� L̄ 	� ��� ������� '��� ������ 	��	
� ��� �������� �� ��� ���� A��� �A�����
 ����
��� '��'���	����	�� (	�� L̄ 	� 	�
�'��
��� �� ��� ������
��
)��� �������

1

1.25

1.5

1.75

2

0 2 4 6 8 10

L (fm)

<p
T

2 >
  (

G
eV

/c
)2

NA50 Pb-Pb (158 GeV)

NA38 S-U (200 GeV)

NA3 p-A (A=p,Pt) (200 GeV)

NA38 p-A (A=Cu,U) (200 GeV)

NA38 O-A (A=Cu,U) (200 GeV)

������ �����
 5��� �����1���� �
����(� 
� J/ψ �� � �(�	��
� 
� ��� ���� ���� 
����� L̄
�� ��� �(	
�(� :-,;� ��� ���� ���� 
����� �� ���������� ��
� ��� �
��
 �����1���� �����+
��
�(	�� �� ��� �(	
�(���(	
�(� 	


���
�� ��� 

��� ���� �����+ 
� A�4� ��1�� 1�
(�� �
�
〈p2
T 〉 ���� ��� ����
/�����
+ ��, ���2/	2 

��� ���� ��� ���� �� ��� ���� ��� ��
�
���
��
��+

���� L �� ��� ���� �
� �
�� ���� �����

(���� 
�	�� ����� ���
��

+��!��� �3�����
��

4�� ���)��	�� �� � J/ψ ��� A� ������� �� ����� �� � �	)�
����� ������
 �� ��� ������


	>������ A��(��� ��� ���	��� ����)��	�) ������� 3� ��
�� �� )���	��
� ���	)��� ���
��� '��'�� 
	������ ��������
 A����� ��� ���)��	�� �� ��� ����)��	�) ����� 	�L

τ
J/ψ
F � �

∆E
≈ 2�

mψ′ −mJ/ψ

= 0.6 �)J� �7�#�08�
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3 �	)	��� ������ 	� �A��	��
 ���) � +� �� 
��� D%$E�
4�	� ���)��	�� �	)� )��� A� )���	'�	�
 A� � <�����. ������ γ(xF ) �� ���(� 	� +����

7�0�$� /��� �� ��� J/ψ ��� '��
���
 (	�� �� xF ≈ 0 ��
 � ������'��
	�� γ ≈ 20� �	���
��� ��'	��� ��
	�� �� � ������� 	� � ��( �)� ��	� 	)'�	�� ���� )��� �� ��� J/ψ ��� ����
����� ���)�
 ����	
� ��� ��������

���	
� ��� �������� ���� ������ �� '��
)���� cc̄ ������ ������� ��� ������� ���	���

)���� M� �:'��� cc̄ '�	�� �� A� ��A*��� �� 	�������	���� �	)	��� �� ����� ���� �>���
��� '����� ?�: �� ��� 	��	
��� '������ ���� 	�������	��� ��
��� ��� '��A�A	�	�� ����
��� '��
)���� ����� (	�� ���	)����� ���) � J/ψ� �	��� ��� 	�
	�	
��� c ;����� �:'��	

���� �)��� pT �	��� ���) �������
	�� ������� ��� �>���	�� )��� �� ��� '��
)���� �����
(	�� ���
����� 	�������� ��
 )�� ���� �	�� �A��� ��� DD̄ ��������
� '������	�� � J/ψ
���) A�	�� ���)�
� 3� ��������	�� 	����'�����	�� 	� ���� ��� cc̄ '�	� 	� 
	����	���
� ��

��A��;������ ����'�� ��� ������� �� ��'����� �'��
����) ��
�����

4�� @���A�� )�
��� (�	�� (�� ���
 �� 
����	A� '�����
������� 	�������	���� ���
���� A� ���
 �� 
����	A� 	�������	��� �� � cc̄ '�	� (	�� ��� ������� )����� 	� (�	�� 	�
(�� ���)�
 D%#E� -�� ��� 	����
��� �� H�A���'�	��I ����� ����	��� σ

J/ψ
abs � ��
 � H����	���

'��A�A	�	��I� Ssurv� ��
 �:'���� ��� '��
���	�� ����� ����	�� 	� pA ����	�	��� ���� ����
+�� 7�#�6� ��L

σ
J/ψ
pA = σ

J/ψ
pN

∫
d2�bdzρ(b, z)Ssurv(b, z)

Ssurv(b, z) = exp

[
−
∫ ∞

z

dz′ρ(b, z′)σcc̄abs

]
�7�#�09�

�7�#�0%�

b

∆ z=γcτF

NUCLEUS

z z’

ψJ/

������ �����
 ��
�����	�
 ��	�(�� 
� J/ψ �
�����
� �� � �(	
�(�� ��� �
�����
� 
� � J/ψ
��!�� �
�	� 
� � ���� �	�
� ���� �� ��
���� �+ � ��	�
� γ(xF )� *
� ������1� 1�
(�� 
� xF ���
J/ψ 	�� �� �(

+ �
���� ������ ��� �(	
�(�� H��
� ������ ��� �(	
�(�% ��� cc̄ ���� ������	��
���� ��� �(	
��� ������% ���	� ���(	�� ��� ��
����
��+ �
� �
����� � J/ψ�

��� � ��	���) �'���	��� ������� 
���	�� ρ(b, z) = ρ0 = 3A/(4πR3)� ��
 ����)	��
�)��� ������ ��� σcc̄abs ��
 ��� (α− 1)� �� ����

σpA
σpN

≡ Aα ≈ A− A ln(A)(1 − α), �7�#�0!�



)	$ +��!��� �>���� 
� J/ψ ���/���
�� �(2

(� ��� �:'��
 �;� 7�#�09 �� �A��	�L

α = 1 − 9

16

Aσcc̄abs

ln(A)πR2

= 1 − 9

16

A1/3

ln(A)

σcc̄abs

πr2
0

, �7�#�$"�

(���� r0 = 1.1 �) � 4�� 
�'��
���� �� A 	� (���L ��� A A��(��� 7" ��
 $""� ���
������ A1/3/ ln(A) 
	>��� ���) ��	�� A� �' �� 0" G� ��	�� ��	� �''��:	)��	�� (� ���
(�	��L

σcc̄abs =
16πr2

0

9
(1 − αJ/ψ). �7�#�$0�

�� (� ������� 	�	�	�� ����� �>���� �� ������ �� xF ≤ 0� ��� )������
 ����� �� αJ/ψ ≈
0.95 D%6E ������'��
� �� �� �A���'�	�� ����� ����	�� �� �A��� #�6 )A�

���� (� ���� ����)�
 � �������� �A���'�	�� ����� ����	��� -�� ��� ���� ����	
��
��� cc̄ '�	� �� �:'��
 ���	� 	� ������� ��� �	.� �� ��� ����)��	�) ������ σ

J/ψ
abs 	� ����

'��'���	���� �� ��� �	.� �� ��� cc̄ '�	� ��
 	�������� ���	� ��� J/ψ 	� ���)�
L

σ
J/ψ
abs (z′ − z) =

{
σcc̄abs(t/τF )2 t < γτF

σ
J/ψ
abs t > γτF

. �7�#�$$�

4�� '��A�A	�	�� �� 
	����	��	�� � ����� ���)�
 ����)��	�) ����� �� t > γτF ��� A�

	>����� ��� ��� 
	>����� ������� -�� )�� �:'��� ��� 
��'�� A���
 J/ψ �� A� ������	����

���>����
 A� ��� ������� ���	���)���� ���� σ
J/ψ
abs ≈ 0� M����� A���
 ������ ���� ��

χc ��
 ψ
′ ����
 ��	�� A� A����� �'� ���
	�� �� � ��''����	�� �� ��( ������ �� xF � ��

��	� )�
�� ��� �:'���� ������� ��''����	�� �� ψ′ �� A� �������� ���� J/ψ ��''����	���
4�	� 	� �����)��� (	�� 
��� D%6E�

�� ��� J/ψ '��
���	�� 	� 
����	A�
 A� ��� ������ ����� )�
��� ��� ��� ����)� ������
������� ����)��	�) ������ �� ���� A��� '����
�
 A� �������
 cc̄ ������� 3 ������ �����
cc̄ ����� (���
 	������� (	�� ��� ������� ���	���)��� (	�� � ������ �A���'�	�� �����
����	�� D%"EL

σcc̄ octet
abs > σcc̄ singlet

abs . �7�#�$#�

4�	� (���
 	)'�� ���� J/ψ ��
 ψ′� )����� '��
���
 �	� � ������ ����� ������� ��� )���
�������� ��''�����
 ���� χc� (�	�� ��� )�	��� '��
���
 	� � ������ �	����� ����� D%7E�
�� 
��� �� χc ��''����	�� �:	�� �� 
���� A�� ��
�23 	� �:'����
 �� )������ ��	� 	�
$""$�

&���� �� ��������
��

3������ '���	A�� )�����	�) ��� ������� ��''����	�� 	� 
�� �� ��� �������	�� �� cc̄ ������
�� ����� ���)�
 ����)��	�) ������ (	�� ����� '���	���� '��
���
 	� ��� 	�������	��� ��
���� �����	���
 '���	���� ��� ����� 	� '���� �'��� ���� ��� 	������� (	�� ��� ����)�

�	�)� ����	�� � 
	����	��	�� �� ��� ����)��	�) ����� 	��� �'�� ����)� A����� 	� ���

�����
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�� 	� ��������� ����)�
 ���� ����� ���)�
 J/ψ ������ ��� ��� 
��'�� A���
 �� A�
A����� �' A� ��
)���� 	�������	���� 4�	� 	� ��� ��� ���� ��� �:�	��
 ����)��	�) ������
���� �� ψ′ ��
 χc� ���� ��� A����� A���( ��� �'�� ����) ��������
� 4�� '��
���	��
�� ψ′ ��
 χc 	� ��������� )��� �������� ��''�����
 A� ��
)����� ���� ��� �
	�����
'��
���	�� �� J/ψ�

&�!��� ������
�" 
� � :���-�"!��� �!����

�� �������	� ��
 ������� �������
������� ����	�	��� ��� �:'���� ������ 
���	�	�� ��=�	���
��� ��� ���)��	�� �� � 
�
���+��
 ����� �� )����� �� H;����
�����
'���)�I�P@1�� 4��
'��
���	�� �� J/ψ 	� �:'����
 �� A� �������� ��''�����
 	� � P@1 A������ �� ������
������	�� D%8E� �� ����� �� ���)������� ��
���
 J/ψ �	��
 	� '���	A�� ��� ��������
	�
	���	�� ���� ���� � ;����
�����
'���)� �P@1� ��� ���)�
 D%9E�

5����� ������	�� 	�
	����� ���� ��� cc̄ A	�
	�� '�����	�� �� �;�7�$�0 	� �>����
 A�
��� )�
	�) �� ������ )��	�� ������ ������� �� ��� P@1� 4�� ���	�� ����	�� K 	� ���
���) Kr 
�������� (	�� ��� 
���	�� �� ���� ������ �������� �� �;�	��������� (	�� ���
��)'������� T �� ��� )�
	�)L

Kr→ K

µ(T )
(1 − e−µ(T )r) �7�#�$6�

(���� µ(T )� �����
 ��� ������	�� )���� 	�������� (	�� ��� ��)'������� T � 4�� �������
�� <���	�� P5& �	)����	�� D%8E ��� A� '���)���	��
 ��L

µ(T ) ≈ 1

4

T

Tc
. �7�#�$7�

4�� ��	�	��� ��)'������� Tc 	� ��� ��)'������� �� (�	�� ��� '���� �����	�	�� ���)
��
���	� )����� �� � P@1 ������� �� 	� ���	)���
 �� Tc ≈ 260 /�B D%%E�

�� � P@1� ��� ������ ������ �� ��� ����) ;����� ��� �>���	���� ��
���
� 
�� �� ���
&�A�� ������	�� A� ��� ������
���
���	�� )�
	�)� 5����;������� ��� 5����)A
��'�
'�����	�� A���)�� � N���(�
��'� '�����	��L

−4

3

αS(1/r
2)

r
→ − 4

3

αS(1/r
2)

r
e−µ(T )r , �7�#�$8�

�� ���� ��� cc̄ A	�
	�� '�����	�� 	� � P@1 A���)��L

V (r) =
K

µ(T )
(1 − e−µ(T )r) − 4

3

αS(1/r
2)

r
e−µ(T )r �7�#�$9�

3� ��=�	����� �	�� ��)'������� T > Tc� ��� cc̄ A	�
	�� '�����	�� A���)�� 	��>���	��
��
 ��� ����)��	�) ����� ��������� 
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Ṫ J/ψ(t)
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 +��	�� 	� ��� B&�� ��	�� �� �''��:	)��� ���)��
+����� ���� �� ��� ������ 	� ��;�	��
 �� ���� �� ����� ����� �	�� 	� �� ����� �(�
��'���������

4�� )����� '��'����	�� )�
��� �� ��� �<4 �<$/������ (�� ��� �:�����
 A������
��� �����	�� ���)A��� 	��	
� ��� )����� (��� ��� ��	���
� �������)���� �� ��))��
�����: (�� ��;�	��
 �<$B����:� ��� ��� ��'��� '�	��

4�� 	�����	�� �=�	���	�� �� ��� $""" ��	���� ���	� ��� J/ψ �����������	��� ��� A���
���	)���
 ��	�� � /���� 5���� �	)����	�� �� A� 0�# G ��� J/ψ→ e+e− ��
 0�6G ���
J/ψ→ µ+µ− D0"E� 4�� ����� �� (�	�� J/ψ (��� �����
�
� (�� �' �� 0"" '�� ���� ��

��� ���	�� 	� ���� ��������



2	� ��
""�� ��/ �����������
�� �2)

����� .�/��	� ��
�	����
���	 �� J/ψ 
�	�������

3���� '���	�� ��� J/ψ
��	����� ��� ������ (��� ������������
 A� ��� 6<4J�32/ ��	��
��� �����������	�� '������� 
����	A�
 	� ����	�� 8�$�#� 4�� �(� �<4 ��'��� ������ ����
���)�
 ��� J/ψ ���
	
��� (��� ���
 �� ����� ���
� ��� ��� �>
�	�� ����� �����������	���
4�� �=�	���� �� ����������� ����� ������ (�� '����	����� 0""G�

3 '��
������	�� �� J/ψ→ e+e− 
����� (�� ����������
 ���) �������� ��
 '��	����
���
	
����� ���� ���	�+�
 ��� �����(	�� ��	���	�L

• p > 5 GeV/c� 4�	� ��
���� ��� ��)A�� �� ��)A	���	��� )�
��

• |E/p− 1| < 0.36� 4�� ������� ������ �����
 )���� ��� )�)����)�

• ET > 0.9 @�B� 4�� ��	���� ���� ��� ��
��� (	�� �'
���
 ���	A���	���

• ∆y,ECAL < 3 �)� 4�� ����� ��
 ��� ������� ��� ��;�	��
 �� )���� 	� y�

• Ebrem > 0 -2 Lrich > Lmin(p)� 4�� '���	��� )��� ���� ��
	���
  ��)����������
�� ���� � �	�� 	� ��� 2�5� ��)'��	A�� (	�� �� ���������

4�� �������� ��
 '��	���� ������ )��� ���� ���) � ��))�� �����: ��
 �	�� �� 	����	���
)��� me+e− > 2 GeV/c2�

3 '��
������	�� �� J/ψ→ µ+µ− 
����� (�� )�
� ���) '�	�� �� �''��	���� ������

������� ���
�
 A� ��� /�-� �<4 ������� 4��� ���� )��� ���) � ��))�� �����: (	��
)��� mµ+µ− > 2 GeV/c2�

������ ���� �����	� � J/ψ ���
	
��� (��� ������� �������
 	� 2--4�  ��	
�� ���

���� 	����)��	�� �� ��� ������ �� ��� ������ ��� ����� ��
 �����: '���)����� �� ���
J/ψ ���
	
���� (��� �����
� ��� J/ψ→ µ+µ− ���
	
����� ��� ������ ������������
 	�
��� �����: 
������� (��� ���� ����
� 4���� ������ ��� ���
 	� ��� ������	� �� �����	���

'���	��� '��
���	��� '�������
 	� ��� ��:� ���'����

����� +�	��  ���� ���������	

��� ����� ������ (� ��� �(� ��)'��� ��)'��� �� 0""""" /���� 5���� ��������

J/ψ→ µ+µ− ������� 4�� J/ψ 	����� 	� ��������
 A� �5����� 4�� ��)�	�	�� ��

����� Ebeam − EJ/ψ� 	� ��A��;������ '����
 �� �
����� �� ��� ������ �� �� 	��	
���
'����� �� �������� ��� ��
����	�� '�����
������� 	�������	��� 4�� /���� 5���� ���

����	�� 	� 
����	A�
 	� )��� 
���	� ����(���� D0"#E�

3���� � 
������� �	)����	�� ��
 
	�	�	���	��� ��� /���� 5���� ������ ��� '�������

������� � 
���	��
 �	)����	�� �� ��� ��	���� ���	�� 4�� ������ ���� '����
 ��	� ��	����
���	�� (�	�� (�� �''��:	)����� 0�7G �� ��� ��������
 ��)'��� (��� ������������
 	�
��� ��)� (�� �� ��� 
����



�20 ����������� �� J/ψ 1
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1�# !��	� �
 $	���
 	� ��� ����$ J/ψ→ µ+µ−

����� 5��	�� �����������	

3 ����� J/ψ→ µ+µ− �	���� 	� �����
� �A��	��
 A� ��� '��
������	��� ������������ ��)�
�)��� 	)'����)���� 	� ��� �	��	+����� �� ��� �	���� ��� ��	�� A� �A��	��
 A� �

	�	����
������	�� ��	���	�� M� ����	
�� ��� �����(	�� ����� ���� (� (	�� ����� �'�	)	��L

• ���� !
-�!
���/ 
� 48&�
�� ��� )��� ������� ��� ����'����� �� ��� 2�5�� ��� ����� �� ��� �)	���

5�������� ��
	��	�� �����
 A� ��)'��	A�� (	�� � )��� ��'�����	�� 4�� �	��

�	���
� ��� �A��	��
 A� ��� ����

����� �	�� ������ �2���� �� ���) ��� �����
A���
 '���	��� 	
���	+���	�� '�����) �2�4�2��

• ���3�� �� �
�� 
� K
�< *�4 �� �9*+ ��3�/��������
4�� 	����	��� )��� �'�����) ��� A� �����)	����
 A� ����� ������L ���
�)
��	��	
����� �� �	�� ���� ��� ����������� �����
�
 �� � ����� �� � '���	��� '���	����
���� ������ ���� � �)����� ���� ������� ��)A�� �� �	�� '�� ����� ��
 ��� ����
A� ��*����
 A� 
�)��
	�� ��	� ��)A�� �� A� �A��� � �����	� ������

• χ2 �� /
����  �����
�� ��� �(� ������ ���)	�� ��� J/ψ ���
	
��� (���
 ��� ���� ��	�	����
 ���)
� ��))�� '�	��� �� 	� ��� �� ��� ������ (�� � ����� ������ ��� �����:� ��	��
������������
� (	�� ��������� ���� � ����� χ2� ���� ��)A	���	��� ��� ���� A�
��*����
 A� ����	�� �� �''�� �	)	� �� ��� χ2 �� ��� 
	)��� �����:�

• ��!��
���
�� ��"!�
�� ��� J/ψ 	� ��� '����	��
� (�	�� 	� �''��:	)������ ��� ����� ��� ���	�� �� ���

���� ����� λ 	� ��	���)�� 
	���	A���
�  ��������
 �� ��� J/ψ ��(����� 	� )���
���))���	�� �	�	�� �	�� �� �)��� 
���� ������� 3 ��� �� | cos(λ)| ��� ���������
��
��� ��	� A��������
�

4�� ��� ������ ��� ���	�
� ��
 ��� ���� ����� (� +� ��� 
	
)��� 	����	��� )��� �'��

���) �� � �����	���� ���)� (�	�� ����	��� �� � @����	�� �� 
����	A� ��� �	����� '��� �
�:'�����	�� ��� ��� A��������
L

N(m) = Cbgnd.e
−bm + Csignale

−(m−mψ )2

2σ2
ψ . �9�#�0�

4�� J/ψ �	��
 ��
 ��� �������	��� �����	� ��� �:������
 ���) ��� +�� 4�� �	��	+�����
	� 
����)	��
 �� ��� ��)A�� �� ��� J/ψ� 
	�	
�
 A� ��� �������	����

�	���� 9�#�0 ���(� ��� 	����	��� )��� �'����� ��� ����� 
	>����� ������ �� ��� )	�	

)�) /�-� �	���	���
 	� ��� 2�5�� 4�� 
�'��
���� �� ��� �	���� �	��	+����� �� ���
����� �� ��	� ��� ��
 �� ��� ����� �� ��� �����:
χ2 ��� ��� ���(� 	� +���� 9�#�$�

4�� �����: ���� ��� �	���	���
 ���� ��
 ��� ��� �� ��� ��)A�� �� �	�� 	� ��� /�-�
���)A��� �	�� ��)� �)��� 	)'����)���� �� ��� �	��	+����� �� ��� �	����� 3������� (�

� � ��� )

� ���!� ����� �
�
��
�� �� )��� ��
 xF ��� pT � ��
 J/ψ ��
 
���
� 	����������		� ��
������
��
	� ��	����
� B,2/D" (�
 ��
���
 ��	��������� ��!
�
� �� ���		"
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� ����� ��0����� 1�
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� ��� �����(� �(
��
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� �
� ��� ���� ��	
����(	��� �� ��� �&7��

���� ���� ����
 � �	��	+���� 
	>������ 	� '����	���	�� ������ A��(��� J/ψ ���
	
����
��
 A��������
� ��	� A��������
 	� �����
� ��)���
 A� ��� �����: ��
 �	���	���
 �����
4�� ���� ���� ����� ;���	�� ��;�	��)���� �� ��� )��� ������ ����� �� ��� ��)A�� ��
�	��� 	)'���� ��� �	���� ���� )���	������ 	�
	����� ���� ����� ������ 
� ��� �����	A���
�	��	+������ �� ��� A��������
�

4�� �'�	)�� ��� ������ ��� ��))��	��
 	� ��A�� 9�#�0� ���� ���� ����� ������ ��
��� ���� 	� ��A�� 9�#�0 ��� �'�	)�� ������ ���� ��� ���� ������	�� 4�� ���� �	�� ��� )���
�	��	+���� J/ψ �	������ �	��� ��� ����	��	�� 	� ��	� 
��� ���� 4��� ��� �''��:	)�����
��� )�:	)�) 	� signal/

√
background� ��� ������ ����	��	��� ��)'��� (	�� 	
���	���

A��������
 ���
	�	��� ��� �'�	)�� ��� ������ (	�� A���)� )��� ���	����� ���� ���
������ ���
 �����

�	���� 9�#�# ���(� ��� 	����	��� )��� �'����� A����� ��
 ����� ��� ��)A	��
 �����
4���� ��� ��)� ���	���A�� �>���� �	�	A�� 	� ��� 	����	��� )��� �'����� ��� ��� �(�
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�!/�

��� ����� 	)'����)��� �=�	����

�����: χ2 χ2 < 20 ≈ 5% !!�# G

µ �	���	���
 	� 2�5� Lµ > 0.1 ���� ��� ������ ≈ 2% !!�7 G

�	�� 	� )��� �����) NMUON > 10 ���� A��� ������� ≈ 2% !9�# G

��
�� �����
 #�
�	��
� 	������� �
� J/ψ 	��������� �� ��� ��	�+ �
 �(
��� ��� ����
1�����
������ �
 ��� ��	������ �����.	��	� �� 
������� ��
� ��� .�% ���� �����	� �
 �
 ������
��
 	(��
��� �K	���	��� ��� ���������� ��
� � ����
� 
� ���� 5
��� 7��

 J/ψ �1�����

• ���� ��
��
4�� ������������
 )��� �� 3.077 GeV/c2 	� �	��	+������ �> ��� ��)	��� J/ψ )���
�� 3.097 GeV/c2� �� 	� ��� ����� ����� (��� ������ ��	� �>���� 3 '���	A�� �:'��

���	�� 	� 
������� )	���	��)���� (�	�� ��� �:'��	� ���� � )��� ��	�� �� �����
;���	���	����S

• ����!��
�� /
>�������	
4�� �������	�� �� ��� J/ψ �	���� 	� ��	����� A����� �� ��� ���A�� (	�� �σ =
51 MeV/c2� ���� �� ��� �	���	�) (	�� �σ = 56 MeV/c2�� 4�� /���� 5����
�	)����	�� �	��� � �������	�� �� 45 MeV/c2 ��� A��� ������ (	���� 4�� 
	>�������
��� A� �����
 A� ��� 	����'����	�� �� (���� �	�� 	� ��� �����: ����� ���)�����
4�� )��� �������	�� ��� A��� ����
 �� (����� (	�� ����� )���	'�	�	��� �������

�	��� �� ��� �	���	�) (	�� ���� � $% G �	���� ����� )���	'�	�	��� 4�� '������
/���� 5���� �	)����	�� ��
�����	)���� ��� )���	'�	�	�� 	� J/ψ ������ ���� ����	��
%�0�8� ��
 
��� ��� �	)����� ��	��S

• /
>����� 3��-"����/ !� �!	
4�� A��������
 ����� 	� ������ ��� �	���	�) ���� ��� ���A��� 4�	� 	� � 
	���� ���

��;����� �� ��� �	���� ������� ����� )���	'�	�	��� ���� ������ � �	���� '��A�A	�	��
��� ����
J/ψ� 	�������	��� �� ��� �	���	�) (	�� �� '��� ��� ��	���� ��;�	��)�����
4�� ����� )���	'�	�	�� 	� ��	�����
 ������ 	� ������� ���
	�
 	� ����	�� %�0�

4�� J/ψ �	��
� ��� �:������
 ���) ��� +�� ��	�� �(� 
	>����� A	�
�	.�� ��� ��� )���
�'�����)� $7 MeV/c2��
 7" MeV/c2� 3� � ����� �� ��� ����	�	�	�� �� ��( ����	��	��� ���
+� ��� A��� '�����)�
 A� )	�	)	�	�� ��� ����� χ2 ��
 A� )�:	)	�	�� ��� �	���	���
�
4�� J/ψ �	��
� ��
 ��� ���	�� ��� �	��� 	� ��A�� 9�#�$� 4�� ���	� 
��� ��� 
�'��


4����� χ2 +� �	���	���
 +�

N
25 MeV/c2 N

50 MeV/c2 N
25 MeV/c2 N

50 MeV/c2

5 777 ± 34 782 ± 34 772 ± 33 775 ± 34

4	 1028 ± 41 1033 ± 41 1011 ± 40 1025 ± 41

���	� �	$�$±7	72. �	$��±7	72. �	$�7±7	72. �	$��±7	72.
��
�� ����	
 J/ψ +��
�� �� �/���	��� ��
� � χ2 ����������
� 
� � 
�!�
��

� ��/�������
� .�

� �C� <���, �
 ��� ��1������ ����(
� ���� ���	��(�% (���� ��
 ��0����� ��� ��6���
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Nψ   = 771.5 +- 33.18 

mψ   = 3.077 +- 0.002361 

σ      = 0.05062 +- 0.002176 

constant = 2.305e+04 +-  3073 

slope    = -2.274 +- 0.05103 

 pairs from C wire-µ+µ
Chi2 / ndf = 99.88 / 84

Nψ   = 771.5 +- 33.18 

mψ   = 3.077 +- 0.002361 

σ      = 0.05062 +- 0.002176 

constant = 2.305e+04 +-  3073 

slope    = -2.274 +- 0.05103 
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Nψ   =  1011 +- 40.18 

mψ   = 3.077 +- 0.002425 

σ      = 0.05591 +- 0.002255 

constant = 3.303e+04 +-  3447 

slope    = -2.223 +- 0.03985 

 pairs from Ti wire-µ+µ
Chi2 / ndf =   149 / 87

Nψ   =  1011 +- 40.18 

mψ   = 3.077 +- 0.002425 

σ      = 0.05591 +- 0.002255 

constant = 3.303e+04 +-  3447 

slope    = -2.223 +- 0.03985 

������ �����
 &�1������ ���� ���	��� �
� µ+µ− ����� ��
� ��� 	���
� 2zvertex < −3 ��3 ���
������(� 2zvertex > −3 ��3 ������ ��� ���	��� ����
����� ��
� ��� ��1������ ���� ���	��(�
���
�� ��� 	(��% ��� ���� �
���� ��� ��� .� ��
� ��� ���	��(�� ����� ��� 	(���

�	��	+������ �� ��� A	�
�	.�� �� ��� +��	�� )����
� ��� ��� 
����)	���	�� �� αJ/ψ (�
(	�� ���� ��� ������� ���) ��� χ2 +� ��	�� � A	�
�	.� �� $7 MeV/c2L

N
J/ψ→ µ+µ−
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mψ   = 2.965 +-    0 
σψ = 0.1179 +- 0.007506 

 = 3.522e+04 +- 4808 bgndA
 = 0.4284 +- 0.00893 bgnda

 = 0.2365 +- 0.01715 dilσ
  = 0.07636 +- 0.009329 dill

Carbon
Chi2 / ndf = 100.2 / 112
Nψ   = 1146 +- 81.19 
mψ   = 2.965 +-    0 
σψ = 0.1179 +- 0.007506 

 = 3.522e+04 +- 4808 bgndA
 = 0.4284 +- 0.00893 bgnda

 = 0.2365 +- 0.01715 dilσ
  = 0.07636 +- 0.009329 dill
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Nψ   = 1359 +- 98.97 
mψ   = 2.965 +-    0 
σψ = 0.1109 +- 0.007111 

 = 6.749e+04 +- 7996 bgndA
 = 0.4183 +- 0.007276 bgnda

 = 0.2409 +- 0.01299 dilσ
  = 0.1023 +- 0.006871 dill

Titanium
Chi2 / ndf = 124.7 / 112
Nψ   = 1359 +- 98.97 
mψ   = 2.965 +-    0 
σψ = 0.1109 +- 0.007111 

 = 6.749e+04 +- 7996 bgndA
 = 0.4183 +- 0.007276 bgnda

 = 0.2409 +- 0.01299 dilσ
  = 0.1023 +- 0.006871 dill
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4�� �������� ������ ������ ���� ����� ��� (	
�� �� ��� J/ψ �	���� �� A� �(	�� �� �����
�� 	� ��� )��� �������� 4�	� �>��� 	� )��� ������ ���� ��� )��� �������	�� 
	>�������
A��(��� ������ )����	���� �� 	� ��������� *���	+�
 �� +: ��� J/ψ (	
�� �� � ��))��
����� ��� A��� ������ (	����

4�A�� 9�6�$ �	��� ��� J/ψ �	��
� �� �A��	��
 ���) ��� +��� ��	�� 
	>����� A	�
�	.��
��� ��� �	������) �� � �����)��	� ������ ��� ��� )������)��� �� αJ/ψ (� ���L

4����� χ2 +� �	���	���
 +�

N
25 MeV/c2 N

50 MeV/c2 N
25 MeV/c2 N

50 MeV/c2

5 1146 ± 81 1134 ± 79 1114 ± 78 1110 ± 78

4	 1359 ± 99 1349 ± 98 1328 ± 93 1324 ± 94

���	� �	�#5��6 �	�#5��6 �	�#5��6 �	�#5��6
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N
J/ψ→ e+e−
Ti

N
J/ψ→ e+e−
C

= 1.19 ± 0.12(stat.). �9�6�#�

4�� ������	�� ��	���	� �� ��A�� 9�6�0 ��
��� ��� A��������
 ����� A� � ������ �	:�
(�	�� 8!G �� ��� J/ψ �	���� (�� ����	��
� ������������ ��� A��������
 ����� ��)�	��
��� (���� ���� 	� ��� )��� �������� 4�� (���� )��� �������	�� ���� 	�������� ���
����	�	�	�� �� A��������
 ?������	���� ���� ������ ��� J/ψ �	��
 	� ������ 	� ���
�������� �������� ��� �	��	+����� �� ��� �	���� 	� �A��� 8"G �����
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4�� ��	���� �=�	���	�� ��� ��� ��'������� 
����)	��
 ��� ��� ��������	� �������� �	���
�� ��=�	����� ������ ����� ��)'�� �� J/ψ→ e+e− 
����� ��� A� �A��	��
 ���) 
���� M�
���� ��(����� �A��	� � �������A�� ���	)��� A� 
����)	�	�� ��� ���)���	��� ����'������

4�� 	���� ����'����� 	� '����	����� �;��� �� ���� ��� J/ψ→ µ+µ−� �	��� ��� 
�)	

���� ������ ���� 	� ��� ������� �������� �� ��� -���� 4������ ��
 ��� B����: &��������
4�� ����� ����'����� 	� �	)	��
 A� ��� �53< '����	���� ��������� ���) ��� 	)'���
'�	��� �� ��� e+e− ������ �� z = 60 �)� (� ���	)��� 	� �� A� �)����� ���� ���� ���
J/ψ→ µ+µ− 
����� A� �''��:	)����� 0�7�) �� z = 60 �)� 4�� ������	�� ������� ��

��'����� �������	�� 	� ����� ���) +���� 9�#�8� (	�� ∆xy = 1.5 �)� (�	�� (� ���	)���
�� 0�"6"�07�� 4�	� ���� �	��� ��� ��� ���	� �� ��� ��	���� �=�	����L

ε
J/ψ
Ti

ε
J/ψ
C

= 1.02(2). �9�6�6�
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J/ψ ���� ����
� 2�3�
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��'������� �

�
 	� ;��
������� (� �A��	�

αJ/ψ(xF = −0.062(60)) = 1.02 ± 0.04(stat.) ± 0.017(syst.); �9�7�0�

αJ/ψ(xF = −0.012(44)) = 0.93 ± 0.07(stat.) ± 0.020(syst.). �9�7�$�

 ��� ������ ��� ����	����� (	�� ��� ��
 ��������� (	�� ��� �A����� �� J/ψ ��''���

�	�� 	� ��	� ���	�� �� xF � 4�� ������� ��� ���� A� '�������
 �� � )������)���� �����	��
�� αinel� (�	�� ��	)	����� ��� �����)��	� �������	��� �����	���
 �� ��� ����)�
 �����

;����	�� J/ψ→ µ+µ− J/ψ→ e+e−

σinel
Ti

σinel
C

2.71 ± 1.5% ��;�8�0�8�

N inel
C

N inel
Ti

1.152 ± 0.45%(stat.) ± 1%(syst.) ��;�8�9�0�

N
J/ψ
Ti

N
J/ψ
C

1.32(8) ��;�9�#�$ � 1.19(12) ��;�9�6�#�

ε
J/ψ
Ti

ε
J/ψ
C

1.005(15) ��;�9�#�#� 1.02(2)

xF −0.105 < xF < −0.0171 −0.056 < xF < 0.032

pT pT < 5 @�B pT < 5 @�B
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�� αinelL

J/ψ→ µ+µ− : αJ/ψ(xF = −0.062(60)) = αinel + 0.30 ± 0.04(stat.) ± 0.013(syst.);

J/ψ→ e+e− : αJ/ψ(xF = −0.012(44)) = αinel + 0.21 ± 0.07(stat.) ± 0.016(syst.).
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��� �� �%88 D%6E� ���� ���(�
 �
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Chi2 / ndf = 2.36 / 6
a        = 89.8 +- 6.85 
b        = -0.144 +- 0.0115 
c        = 0.832 +- 0.0138 

titanium
carbon (shifted by 0.2)  
fit: a(1-exp(bxc))

Chi2 / ndf = 2.36 / 6
a        = 89.8 +- 6.85 
b        = -0.144 +- 0.0115 
c        = 0.832 +- 0.0138 
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      = 0.24 +-   0 µ

Carbon, inelastic
Chi2 / ndf = 47.8 / 38
A        = 4.64 +- 0.0281 
p        = 0.212 +- 0.00219 
k        = 2.13 +- 0.0335 

      = 0.24 +-   0 µ
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Chi2 / ndf = 53.7 / 38
A        = 5.06 +- 0.0296 
p        = 0.174 +- 0.00195 
k        = 2.22 +- 0.0334 

      = 0.21 +-   0 µ

Titanium, inelastic
Chi2 / ndf = 53.7 / 38
A        = 5.06 +- 0.0296 
p        = 0.174 +- 0.00195 
k        = 2.22 +- 0.0334 
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Chi2 / ndf = 30.6 / 37
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k        = 7.65 +- 1.04 

Carbon
Mean  = 16.8
Chi2 / ndf = 30.6 / 37
p        = 0.343 +- 0.0338 
k        = 7.65 +- 1.04 
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 fit (N.B.)

track multiplicity (n)
0 20 40

P
(n

)
0

0.02

0.04

0.06

0.08
Mean  = 21.6
Chi2 / ndf = 31.6 / 47
p        = 0.218 +- 0.0175 
k        = 5.26 +- 1.05 

Titanium
Mean  = 21.6
Chi2 / ndf = 31.6 / 47
p        = 0.218 +- 0.0175 
k        = 5.26 +- 1.05 

ψ J/

 inelastic

 fit (N.B.)
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P(random µ+µ−) ∝ n(n− 1). �%�0�07�
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P (n|random µ+µ−) =
n(n− 1)

n̄J/ψ
P (n). �%�0�08�

�� P (n) 	� � � 
	���	A��	�� (	�� �:'�����	�� ����� n̄� ���� ��� �:'�����	�� ����� ��
P (n|random µ+µ−) 	�L

n̄bgnd. = n̄J/ψ +
1

p
− 1 = n̄+

2

p
− 2. �%�0�09�

-�� ��� )��� � ����	������(��
 �������	���	�� �� ��� )���	'�	�	�� A	�� �� ��� ��	�����
�� ��� ��	���� ��� X ��;�	��� t ���� ������� �� ����

P(X ) ∝ n(n− 1) . . . (n+ 1 − t), �%�0�0%�

���� ��� )���	'�	�	�� 	� 
	���	A���
 �����
	�� �� � � � (	�� �� �:'�����	�� ����� ����
	� ������
 �� ��� ������� )���	'�	�	�� �� 	�����	�� 	������	� 	�������	��� n̄ ��

n̄X = n̄+
t

p
− t. �%�0�0!�

�	���� %�0�7 ���(� ��� 
�'��
���� �� ��� ������� ����� )���	'�	�	�� �� ��� )��� ��
��� 
	
)��� '�	� ��� A��� ������ )����	��� ��'�������� 4�� ������� )���	'�	�	�� �����

��� J/ψ )��� 	� �' �� $7 '������ ��(�� ���� ����	
� ��	� ���	��� 4�� )��� 
�'��
����
�� ��� )���	'�	�	�� 	� +� (	�� ��� �:'����
 
�'��
����L

n̄(m) =
Nbgnd(m)

Ntot(m)
(n̄min.bias + 2/p− 2) +

NJ/ψ(m)

Ntot(m)
(n̄min.bias + 1/p− 1), �%�0�$"�

(���� n̄min.bias 	� ��� ������� )���	'�	�	�� 	� 	�����	�� 	������	� 	�������	��� ��
 p ���
'���)���� �� ��� � 
	���	A��	��� 4�� �	���� ��
 A��������
 ������ ��� �A��	��

���) ��� 
	
)��� )��� �'������ ���(� 	� +���� 9�#�#� �� ��� A� ���� ���� ��� )�
��
�	��� � �������A�� 
����	'�	�� �� ��� )��� 
�'��
���� �� ��� )���	'�	�	��� 4�� ����

��� )���	'�	�	�� 	� �������� ����	
� ��� J/ψ )��� ���	��� 	�
	���	�� ���� ��� ���
�)
��)A	���	��� 
�)	���� ��� ����	���) 	� ��� ���	�� )��� ���	�� ���(��

7���( 5�����% �	� 
�	
�����	�

M� ���� ���(� ���� ��� ��;�	��)��� �� ���	�� � J/ψ 	� ��� ����� ���
� �� � A	�� ��
��� )���	'�	�	�� 
	���	A��	��� ��� ��� ��)A	�����	�� ��	�����
 A��������
 ��	� A	�� 	�
�������� ���� ��� ��� J/ψ ������ ���
	�� �� � )��� 
�'��
���� �� ��� ������
 �����
)���	'�	�	��� 4�A�� %�0�0 ��))��	��� ��� ������ �� n̄ ��� )	�	)�)
A	�� 	������	� 	������

�	���� J/ψ �����	���
 ��
 ��	�����
 A��������
� 4� ���	)��� ��� �������	��� ������
 ��
��� ���	��)��� �� ������ �� ������ (	���� (� ���� ���
 ���� 
	>����� ����� 
�+�	�	����

4�� ������� ���( ����� �����
���� �� ��� 
�+�	�	�� �� � ������
 ������ ��� )������

������ ��� n̄J/ψ ��� 	� ���
 �����)��� (	�� ��� ������ ��� 〈nP (n)〉� (�	�� ��� �A��	��

���) ��� )	�	)�) A	�� 
���� 4��� 	�
	���� ���� ��� )���	'�	�	�	�� ��� A� ��
������

�� ��	�	�� ���) ��� )���	���
 A	�����
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]
2

m [GeV/c
2 3 4 5

n

0

10

20

30

40

Chi2 / ndf = 70.8 / 43
 = 158 +-   0 signal/Cbgnd.C

slope bgnd = -2.25 +-   0 
 = 0.0506 +-   0 mσ

 (min. bias) = 10.5 +- 1.33 n
p        = 0.182 +- 0.024 

Carbon

Chi2 / ndf = 70.8 / 43
 = 158 +-   0 signal/Cbgnd.C

slope bgnd = -2.25 +-   0 
 = 0.0506 +-   0 mσ

 (min. bias) = 10.5 +- 1.33 n
p        = 0.182 +- 0.024 

]
2

m [GeV/c
2 3 4 5

n

0

10

20

30

40

Chi2 / ndf = 39.5 / 42
 = 191 +-   0 signal/Cbgnd.C

slope bgnd = -2.25 +-   0 
 = 0.0559 +-   0 mσ

 (min. bias) = 13.5 +- 1.63 n
p        = 0.129 +- 0.0146 

Titanium

Chi2 / ndf = 39.5 / 42
 = 191 +-   0 signal/Cbgnd.C

slope bgnd = -2.25 +-   0 
 = 0.0559 +-   0 mσ

 (min. bias) = 13.5 +- 1.63 n
p        = 0.129 +- 0.0146 

������ �����
 5��� ��������	� 
� ��� �1����� 	������ ���	! �(
���
�	��+ �� ��������� ����(
�
�1����� ��� ���!�� �(
���
�	��+ ���� �
� � J/ψ 	�(��� � 	
��� ��
� �� 〈n〉 �� � ���� 
� ��, ����
*
� �������	�% ��� ���� ���	��(� �� �
�
 ��
���

4���� ��� �(� '���	A�� ��+��)���� �� ��	� )�
��� ��� �	��	+����� �� (�	�� )�� ����
A��� �A�����
 A� ��� �	)	��
 '���	�	�� �� ��� )������)����  ��� �� ����� ��+��)����
���
 �� � ��	����� ��(�� �����	���
 )���	'�	�	�� ���� 〈nP (n)〉�

4�� +��� 	� ��� ���� ���� ��� ������ ���
�
 �� ���) ��� J/ψ 	� �� ������ ���	��A�� ���
��� '��
���	�� �� �����	���
 '���	����� 3� ��� ��
�23 A��) ������ �� !$" GeV� J/ψ
��� '��
���
 (	�� �� ������� )�)����) �� 78 GeV/c�  ���
 �� ���

√
s 
�'��
����

�� �����	���
 '���	��� '��
���	��� (� �:'��� �� ������� �������	�� �� � ��( '�������

4�� �����
� ��
 '���	A�� )��� �	��	+���� �>���� 	� ���� ��� ������
 ����� )���	

'�	�	�� 	� ���� �� 	�
	���� )������ �� ��� ���� A	��� (�	�� 	� �	��� A� Nelem� �;���	��
%�0�00 	� ���� ���� �� �''��:	)��	��� 4�� ��������	�� 	� (����� ���� ����)�
 �0""G��
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	������	� J/ψ ������ ��
(�	����
 	���� ��	�����
 A��
�

����� 
�+�	�	�� n̄ n̄J/ψ����	�� 〈nP (n)〉 n̄bgnd.����	��

���� 0 �����: 06�6 0%�!�0�#0� 0!�7 $#�6�0�$6�

���� > 0 �����: 07�9 $$�0�0�60� $$�" $9�6�0�$6�

���	���
� > 0 �����: 0$�$ 09�7�0�6#� 09�$ $0�!�0�$7�

���	���
� 0 �����: 00�0 06�9�0�6#� 07�" 0%�"�0�$$�

�����	�� A	��)	�� 0"�7 07�$�0�67� $"�"�0�#0�

532 -�

	������	� J/ψ ������ ��
(�	����
 	���� ��	�����
 A��
�

����� 
�+�	�	�� n̄ n̄J/ψ����	�� 〈nP (n)〉 n̄bgnd����	��

���� 0 �����: 0"�9 06�!�0�#!� 07�9 0!�!�0�$9�

���� > 0 �����: 00�7 09�$�0�6!� 09�6 $0�%�0�$9�

���	���
� > 0 �����: %�99 0#�"�0�6#� 0#�0 08�8�0�$%�

���	���
� 0 �����: %�07 00�6�0�6"� 0$�" 06�6�0�$8�

�����	�� A	��)	�� 9�!$ 00�8�0�68� 07�#7�0�#$�

��
�� �����
 �1����� �(
���
�	��+ �� ���
����	 ������	��
��% ������	��
�� ���� � J/ψ% ��� ����
�
��������� ��	!��
(�� �
� ������(� ��� 	���
� �������� ��� �
(��� 	

(�� ��
�� ��� ���(
��

� ��� �����(� ���� �������(��
� ���� ��� ���� ����������� ���� ��� �(
���
�	��+ ����
�� ���+
��=�	� ��� �/��	����
�� �
� ��� �(
���
�	��+ �� J/ψ �1����� ��� µ+µ− ���	!� 
� ��� J/ψ ���
�
� 	
(���� �� ��� �(
���
�	��+� ��� �(���� �� ���	!��� ��� ��� ����
 ����� ��� 1�
(�� �� ���
���1�
(� 	

(��� H� ��1� ��
���� �
(� ��0����� ��.����
�� 
� � 	������ ���	! �
 �������� ���
�+�������	 (�	�������+ �� ����� ����
�� ��� 
��� �
� �
� ��	� �������
 ��1�� ��� ���(
�� �����

� ��� ������1� ���
���
 ���� ���������� ���������� �� *��� -�,�� ��� ��
���� �/��	����
�
1�
(�� �� ��1�� �� �C� -�,�,8 ��� �C� -�,�,<�

��
 �����;������ ��� A	�� ��� ��� )���	'�	�	�� 	� ��� �� ������ �� ����)�
� -����
���
	
���� ��� Nelem (	�� A� ���
	�
 	� � /���� 5���� �	)����	�� 	� ��� ��:� ����	���

�� ��� A��� �����
 ���� ��� 
	>������ A��(��� ��� )���	'�	�	�� �� 	�����	�� 	������	�
	�������	��� ��
 J/ψ ������ 	� '��
�)	������ �����
 A� ��� ���
 ����� 	������
 	� ���
'��
���	�� �� ��� ����� ����) ;������ �� ��	� (��� ��� ����� ���� ��� (���
 �:'���
��� 
	>������ 	� ����� )���	'�	�	�	�� A��(��� ���A�� ��
 �	���	�) �� A���)� �)������
�	��� ���� ��� )���	'�	�	�� 	������� 	� 	�
�'��
��� �� ��� ������ )����	��� 4�	� 	� 	�

	������)��� (	�� 
���L ��� �A������ 	������� 	� n̄ 	� �	���� ��� �	���	�) ���� ���
���A��� 4�	� 	)'�	�� ���� ��� A��� �� �����	���
 '���	���� 	� '��
���
 	�
�'��
�����
�� ��� J/ψ 	������

4�	� )���	'�	�	�� A	�� ��� ��� A��� ��'����
 A������ '���	A�� �	��� )��� ����� �:

'��	)���� ���
 �� ����� ��
��� �A���A�� ��
 (��� ��������� ��� �A�� �� �A����� ��	�� ��
��� A��� ���������
 	� ��
)���� �A���'�	�� ��������	���� ���� ����)�
 ��� �����	���

'���	��� 
���	�	�� �� A� �;��� �� (��� 	� �A�����
 	� 	�����	�� 	������	� 	�������	����
�����	������� ��	� ����� 	� ������� ��)'������
 A� ������� (���� ����)'�	��� ���� (	��
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A� 
	������
 ����	�� %�$�

7���0 +�	��  ���� ���������	 �� ��� ����
����� ���	�

4�� /���� 5���� �������	�� �� ��
�23 �����	�� 9�$�#� 
��� ��� ���� 	��� ������� ��	�
A	�� ��
� �� � �����;������ ��	�� �� 
����	A� ��� )���	'�	�	�� 	� J/ψ ������� 4�� ��


����	�� ����� 	� A��	����� � )	�	)�)
A	�� 	������	� 	�������	��� ��������
 �� � '�����
)�)����) Ebeam − EJ/ψ� �	��� ��� ������ 
�'��
���� �� ��� )���	'�	�	�� 	� (����
��� ������	�� �����	���
 '���	��� )���	'�	�	�� 	� (	��	� � ��( '������ �;��� �� ��� )��

�	'�	�	�� �� 	�����	�� 	������	� 	�������	���� 4��� 
	>�� ���) ��� 
��� A� )��� ����
6"G�

4�� /���� 5���� �������	�� �� ��� �����	���
 ����� �����
 ���� 	��� ������� ���
A	�� �� �;� %�0�00� �� 
���� (� �A�����
 ���� ��� ������
 '���	��� )���	'�	�	�� 	� �
�������A�� )������ �� ��� ���� A	�� ���� ��)A�� �� ���)������ ��A
����	�	��� Nelem��
A�� ����
 '���	A�� ���
 �� �� �������	)��� �� ��� )���	'�	�	���

�� ��� /���� 5���� �	)����	�� ��� ��� ���
� ��������	�� ;����	�	��� (	�� (�	�� ���
)	�	)�) A	�� ����� �����
 A� ��
(�	����
 �� �A��	� ��� ����� �����	���
 �� � J/ψ�
4�� �'�	)�� ;����	�� 	� ��� ��� ��� (�	�� ��� ��������	�� (	�� Nelem 	� ���������� M�
���� ��	�
 ������� ���
	
����L ��� ��)A�� �� ������
 ������� ��� ��)A�� �� (���
�

�����	� ��� ��)A�� �� ������ ��
 ��� ��)A�� �� ����)���	�� ���	��� �� 4�� 	)'����

/���� 5���� �������	�� �� � J/ψ ����	��� �� ��� �����(	�� ���'�L

�	� @������� � J/ψ ��	�� �5���� S

�		� 5����� � ����	�	�� ���)���� ��
 ��� �
����� �������� �� 	������	� 	�������	��S

�			� 5�������� ��� 	)'������� ��)'�	�� ;����	�� mS

�	�� 3���'� ����� 	� m/mmax ������ ���� � ���
�) ��)A�� A��(��� " ��
 0� ����
��*��� �����	���
 ����� ��
 ������ �� ���' �		��

4�� ������	�� �����	���
 )���	'�	�	�	�� 	� '5 	�������	��� ��� ��� 
	>����� ���
	
���� ���
�	��� 	� ��A�� %�0�$� 4��� 	�
	���� ���� ��� ��)A�� �� ������
 ������ ��
 ��� ��)A��
�� ������ ��� A��� � ���
 )������ ��� Nelem� 4�� ����� �(� �	��	+������ ��
�����	)���
��� )���	'�	�	�� 	�������� (�	�� (�� �A�����
 �� A� �''��:	)����� 6#G '������ 	� 
����
4�	� 	)'������� ��)'�	�� '����
��� ��� ��( A��� 	)'��)����
 	� ��� /���� 5����
�������	�� �� ��
�23�

2� �
��������	�	�$ �	
��	8��	��


�� ��	� ����	�� (� ���
� ��� '���
�
��'	
	�� 
	���	A��	��� �� ���A�� ������
 '���	���� ��

�� ��
���	� ��
)������ M� (	�� ���( ���� ��� 
���	�	�� �� ��� �(� ��� �''��:	)�����

�4�
 ��� ����� ���� ��
 �����
����� ���	� �	�� )
 �
��	�
� )� �� ���������
 ����	��� �� ��

������ �����
�
� b"  � ������� � b ��� )
 5E
� )
%��
 ��
 �
�
��������� �% ��
 ��		����� �
��
���"
(��� ��		����� �
��
���� ��!
�
�� ����
� %��� 
�
�� �� 
�
��� 
�
� %�� � 5E
� b" (�
�
%��
 ��
�
 �� ��� �
���-�
 ���� 	
���� ��� Nelem� %�� � ���
� b� ���� ����
-�
��	�� ���� � ����
���
 ��
� ��� ����
��%�		�
)���� +���
 ���	� ��� ���� �� ���

�
��"
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n̄ n̄ ����� ��
(�	���	�� ���	�

�� �� ������
 ������ %�$8 0$�0 0�68

�� �� (���
�
 �����	 %�$8 0"�8 0�$%

�� �� ������ 	� ����� %�$8 0$�$ 0�6%

�� �� ���	��� %�$8 0"�0 0�$$

��
�� ����	
 5��� �(
���
�	��+ 25
��� 7��

3 
� ��� ���
����	 ������	��
� ���
	����� ���� � J/ψ
���
�� ��� ����� ���
����	� ����
���� ��� ����
� ��� �
 �� 	
������ �
 ��� ����
� 
����1��
�� ���� 2���
� -�,�,3% ��� �1����� 
� ���	� �� ,�8� �
� 	���
�� )
�� ��� ������������ ���� ���
�(���� 
� 	������ ���	!� ��� ��� ������������ ���� ��� �(���� 
� �
(
�� �� ��� �1��� ��1� �
����
���
� ���	�����
� 
� ��� �����

�;���� 	� �������� �� ��� ��))�� ����)'�	�� ���� ���� 
	>�� A� 7"G� 4�	� 	� ���
���� �:	��	�� )������)��� �� ��� '���
�
��'	
	�� 
	���	A��	�� �� �����	���
 '���	����
	� 'A ����	�	����

7���� !������% �	� ������/�������%

�� ��������	��� �� J/ψ ��''����	�� 
�� �� 	�������	��� (	�� ��
)������ ��� ��
���	� ��
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